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Preface 

            Each pupil is unique with respect to learning ability, academic standards, class 

room learning and academic performance and each has his / her own pace of learning. 

This question bank is intended to provide learning support to all pupils even to those 

who lag far behind their counterparts in academic performance. This material 

strengthens their confidence and enhances the ability to face all types of questions and 

answer them effectively to attain high scores.  It particularly familiarises them with 

indirect or application level questions and equips them to answer with confidence. 

              This question bank is based on the NCERT text book of Chemistry class XII 

and it contains model questions for public / board examination including   objective, 

very short answer, short answer and essay type questions. It can be used to conduct unit 

tests, chapterwise revision and thereby pupils can face the exam without fear. The 

ultimate aim of this material is to help pupils who have fallen behind to the best of their 

ability to learn and to bring them back into the mainstream classes as far as possible. 

 
                                                       Authors 
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CC OO NN TT EE NN TT SS   

XXXIII iii    CCCHHHEEEMMMIIISSSTTTRRRYYY   

111 ...    TTT HHH EEE    SSS OOO LLL III DDD    SSS TTT AAA TTT EEE                               000 444    –––    000 666    

222 ...    SSS OOO LLL UUU TTT III OOO NNN SSS                                  000 777    –––    000 999       

333 ...    EEE LLL EEE CCC TTT RRR OOO CCC HHH EEE MMM III SSS TTT RRR YYY                            111 000    –––    111 222       

444 ...    CCC HHH EEE MMM III CCC AAA LLL    KKK III NNN EEE TTT III CCC SSS                            111 333    –––    111 555       

555 ...    SSS UUU RRR FFF AAA CCC EEE    CCC HHH EEE MMM III SSS TTT RRR YYY                            111 666    –––    111 888       

666 ...    GGG EEE NNN EEE RRR AAA LLL    PPP RRR OOO CCC EEE SSS SSS EEE SSS    AAA NNN DDD    PPP RRR III NNN CCC III PPP LLL EEE SSS    OOO FFF    III SSS OOO LLL AAA TTT III OOO NNN    OOO FFF    EEE LLL EEE MMM EEE NNN TTT SSS    111 999    –––    222 111       

777 ...    TTT HHH EEE    ppp    BBB LLL OOO CCC KKK    EEE LLL EEE MMM EEE NNN TTT SSS                         222 222    –––    222 444       

888 ...    TTT HHH EEE    ddd    AAA NNN DDD    fff    BBB LLL OOO CCC KKK    EEE LLL EEE MMM EEE NNN TTT SSS                         222 555    –––    222 666       

999 ...    CCC OOO OOO RRR DDD III NNN AAA TTT III OOO NNN    CCC OOO MMM PPP OOO UUU NNN DDD SSS                         222 777    –––    222 999       

111 000 ...    HHH AAA LLL OOO AAA LLL KKK AAA NNN EEE SSS    AAA NNN DDD    HHH AAA LLL OOO AAA RRR EEE NNN EEE SSS                      333 000    –––    333 222       

111 111 ...    AAA LLL CCC OOO HHH OOO LLL SSS ,,,    PPP HHH EEE NNN OOO LLL SSS    AAA NNN DDD    EEE TTT HHH EEE RRR SSS                      333 333    –––    333 555       

111 222 ...    AAA LLL DDD EEE HHH YYY DDD EEE SSS ,,,    KKK EEE TTT OOO NNN EEE SSS    AAA NNN DDD    CCC AAA RRR BBB OOO XXX YYY LLL III CCC    AAA CCC III DDD SSS             333 666    –––    333 888       

111 333 ...    AAA MMM III NNN EEE SSS                                  333 999    –––    444 000       

111 444 ...    BBB III OOO MMM OOO LLL EEE CCC UUU LLL EEE SSS                               444 111    –––    444 333    

111 555 ...    PPP OOO LLL YYY MMM EEE RRR SSS                                  444 444    –––    444 666       

111 666 ...    CCC HHH EEE MMM III SSS TTT RRR YYY    III NNN    EEE VVV EEE RRR YYY DDD AAA YYY    LLL III FFF EEE                      444 777    –––    444 888             
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UNIT 1.  THE SOLID STATE 
 

1 Mark Questions 
 

1. The unit cell dimensions of a particular crystal system are a = b = c, � = β = γ = 900. Identify the type of 

crystal. 

Hcp {InÌÂ knÌ¯nsâ bqWnäv skÂ AfhpIÄ a = b = c, � = β = γ = 900.  CXv GXv Xcw {InÌÂ 
BWv. 

2. Write the name of a crystal showing both Schottky and Frenkel defects. 
tjm«vIn Un^IvSpw {^¦Â Un^IvSpw ImWn¡p¶ Hcp {InÌensâ t]scgpXpI. 

3. Which of the following lattices has the highest packing efficiency? 

(a) simple cubic           (b)  body centred cubic                 (c) face centred cubic 
NphsS sImSp¯ncn¡p¶ PmenIIfnÂ ]m¡nMv F^njy³kn Gähpw IqSnbXv GXv?. 

  (a) kn¼nÄ Iyq_nIv  (b) t_mUn sktâÀUv Iyq_nIv (c)  t^kv sktâÀUv Iyq_nIv. 

4. The smallest repeating unit of the space lattice is _______ 

]cÂ PmenIbpsS BhÀ¯n¨phcp¶ Gähpw sNdnb `mKamWv  _______ 

5. The number of octahedral voids for a lattice consisting of N atoms is _______ 

\n_nU k¦enX tKmf§fpsS F®w ' N ' BsW¦nÂ, AjvS ^eIob iq\yØe§fpsS F®w 

_____ BIp¶p.  

                                 (a) 2N     (b) N   (c)  
�

�
    (d)   

�

�
 

2 Marks Questions 
 

6. A compound is formed by two elements P and Q. Atoms of ‘Q’ ( anion) make hcp lattice and those of ‘P’       

(cation)  occupy all the tetrahedral voids. What is the formula of the compound? 

P, Q F¶o c−v aqeI§Ä tNÀ¶v Hcp kwbpàw D−m¡p¶p.  ‘Q’ hnsâ Bä§Ä (B\tbm¬) hcp 

emänkv D−m¡pIbpw aqeIw ‘P’ bptSXv (Imätbm¬) FÃm sS{Smsl{UÂ thmbnUpIfnepw DÄs¡m 
Åp¶p.  Cu kwbpà¯nsâ cmkkq{Xw F´v? 

7. Ionic compounds conduct electricity in molten state but not in solid state. Why? 
AtbmWnI kwbpà§Ä DcpInb AhØbnÂ sshZypXn IS¯n hnSp¶p. F¶mÂ JcmhØbnÂ 
sshZypXn IS¯n hnSp¶nÃ.  F´psIm−v? 

8. Write any four differences between crystalline solids and amorphous solids. 
{InÌsse³ Jc]ZmÀ°§fpw AtamÀ^kv Jc]ZmÀ°§fpw X½nepÅ GsX¦nepw \mev hyXymk 
§Ä FgpXpI. 

9. Calculate the number of atoms per unit cell and the coordination number of the following. 

(a)    face centred cubic                  (b)   body centred cubic 
       NphsS X¶ncn¡p¶hbnÂ bqWnäv skÃnse Bä§fpsS F®hpw D]kwtbmPI kwJyIfpw     
    IW¡m¡pI. 

   (a)   t^kv sktâÀUv Iyq_nIv.             (b)   t_mUn sktâÀUv Iyq_nIv 

10. ZnO is white in colour but become yellow upon heating. Why? 

ZnO shÅ \ndamWv. NqSm¡nbmÂ aª\ndamIp¶p. ImcWsa v́ ? 

11. What makes glass different from a solid such as quartz? 
IzmÀSvkv t]mepÅ Jc¯nÂ \n¶pw ¥mkns\ hyXykvXam¡p¶sX´v? 
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3 Marks Questions 
 

 

12. (a)  Sodium crystallises in body centred cubic unit cell with edge length 4.29A0. What is the radius of 

Sodium atom? 

 (b) If the radius of octahedral void is ‘r’ and the radius of atom in close packing is ‘R’, then the relation 

between r and R is ______. 

            (a)    tkmUnbw Hcp t_mUn sktâÀUv Iyq_nIv bqWnäv skÂ {InÌÂBWv.  CXnsâ Hcp h¡nsâ  

             \ofw 4.29A0 BsW¦nÂ tkmUnbw  Bä¯nsâ Bcw IW¡m¡pI. 

 (b)   Hcp AjvS^eIob iq\yXbpsS Bcw ‘r’, \n_nU k¦e\w sNbvXncn¡p¶ Bä¯nsâ Bcw ‘R’ 

F¶nhbmsW¦nÂ Ah X½nepÅ _Ôw ______ BWv. 

13. (a)  The schematic alignments of magnetic moments of ferromagnetic, antiferromagnetic and 

ferrimagnetic substances are given below. Identify each of them.  

           (i)    ↑↓↑↓↑↓↑↓ (ii)  ↑↑↓↑↓↑↑↑ (iii) ↑↑↑↑↑↑↑↑ 
        (b)  How will you convert a ferromagnetic substance into a paramagnetic substance? 

            (a)    s^tdmamáänIv, Bâns^tdmamsáänIv, s^dnamsáänIv F¶o amáänIv tamsaâpIfpsS {IaoIcWw 

                      Xmsg X¶ncn¡p¶p. Ch Htcm¶pw GXmsW¶v Xncn¨dnbpI. 

      (i)    ↑↓↑↓↑↓↑↓ (ii)  ↑↑↓↑↓↑↑↑ (iii) ↑↑↑↑↑↑↑↑ 

 (b)    s^tdmamsáänIv ]ZmÀ°¯ns\ F§s\  ]mcmamsáänIv B¡n amämw? 

14. A metal crystallises into two cubic phases – fcc and bcc whose unit cell edge lengths are 3.5A0 and 3A0 

respectively. Calculate the ratio of the densities of fcc and bcc. 

Hcp temlw f.c.c., b.c.c. F¶o c−v Iyp_nIv {InÌepIfmbn amdp¶p.  CXnsâ bqWnäv skÃnsâ 

h¡nsâ \ofw bYm{Iaw 3.5 Ao, 3 Ao
 F¶n§s\bmWv.  f.c.c., b.c.c. F¶o Iyp_nIv {InÌepIfpsS 

km{µXbpsS A\p]mXw IW¡m¡pI.  

15.  Analysis shows that Nickel Oxide has the formula Ni 0.98 O1.00. What fractions of Nickel exist as Ni 2+ and 

Ni 3+ ions? 

 \n¡Â HmIvsskUnsâ kq{XhmIyw Ni 0.98 O 1.00 F¶mWv hniIe\w ImWn¡p¶Xv .  \n¡ensâ 

F{X`mKw  Ni2+  Bbpw Ni3+ Bbpw ImWs¸Sp¶p. 

16. (a)  Silicon doped with Phosphorous forms n – type while p – type semiconductor is formed when 

doping is done with Gallium. Justify.  

 (b) Refractive index of a solid is found to have the same value along all directions.  Comment on the 

nature of the solid. Explain its cleavage property. 

             (a)    t^mkv^dkn\mÂ tUm v̧ sN¿s¸« knen¡¬ n-ssS v̧ AÀ²NmeIambpw Kmenb¯n\mÂ tUm¸v 

             sN¿s¸« knen¡¬ p-ssS¸v AÀ²NmeIambpw ImWs¸Sp¶p. km[qIcn¡pI. 

          (b)  Hcp Jc¯nsâ FÃm ZniIfnepw A]hÀ¯\m¦w Hcpt]mse ImWs¸Sp¶p. Jc¯nsâ Cu 
kz`mhs¯¸än A`n{]mbsagpXpI.  CXnsâ hn`P\kz`mhw hniZam¡pI.  

 

4 Marks Questions 
 

17. Schottky and Frenkel defects are stoichiometric defects. 

   (a)   Write any two differences between Schottky and Frenkel defects. 

 (b) Explain the pink colour of LiCl when heated in the vapours of Lithium. 

 (c) Why LiCl does not exhibit Frenkel defect? 
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     tjmSv¡n \yq\Xbpw {^¦Â\yq\Xbpw cmkkaoIcW \yq\XIfmWv. 

 (a)     tjmSv¡n \yq\XbpsSbpw {^¦Â \yq\XbpsSbpw c−v hyXymk§Ä FgpXpI. 

 (b)     enYnbw hmXI¯nsâ km¶n²y¯nÂ NqSm¡nb LiCl \v ]n¦v \ndamWv. hniZoIcn¡pI. 

 (c)      LiCl {^¦Â \yq\X ImWn¡p¶nÃ.  ImcWw hyàam¡pI. 

18. Solids can be classified into three types on the basis of their electrical conductivities. 

(a) Name the three types of solids and write their conduction mechanism. 

(b) Non stoichiometric Cuprous oxide (Cu2O) can be prepared in the laboratory. In this Oxide, Copper 

to Oxygen ratio is slightly less than 2:1. Can you account for the fact that this substance is a p – 

type semiconductor? 
  Jc]ZmÀ°§sf sshZypX NmeIXbpsS ASnØm\¯nÂ aq¶mbn XcwXncn¨ncn¡p¶p. 

  (a)     aq¶pXcw Jc]ZmÀ°§fpsS t]scgpXn NmeIXbpsS ASnØm\¯nÂ hniZam¡pI. 

  (b)    t\m¬ tÌmtjymsa{SnIv Cu2O s\ et_md«dnbnÂ \nÀ½n¡mw.  CXnÂ tIm¸dpw HmIvknP\pw     

              X½nepÅ A\p]mXw 2:1 t\¡mÄ AÂ]w IpdhmWv. CXv Hcp p-ssS¸v skanI−IvSÀ BsW¶ 
        hkvXpX hniZoIcn¡mtam ? 
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UNIT 2.   SOLUTIONS 
 

1 Mark Questions 
 

1.    Acetic acid dissolved in benzene shows a molecular weight of _______. 

     AkänIv BknUv s_³ko³ emb\nbnÂ ebn¡pt¼mÄ ImWn¡p¶ X·m{Xm `mcw _______ BWv. 

(a) 60      (b)    120    (c)    180     (d)   240  
2.    Which of the following has maximum boiling point ?.  
       Xmsg X¶ncn¡p¶hbnÂ Xnf\ne Gähpw IqSpXÂ GXn\mWv? 

(a) One molal NaCl solution  
 Hcp tamfmÂ tkmUnbw t¢mssdUv emb\n 
(b) One molal KCl solution  
 Hcp tamfmÂ s]m«mkyw t¢mssdUv emb\n 
(c) One molal CaCl2 solution  
 Hcp tamfmÂ ImÕyw t¢mssdUv emb\n 
(d) One molal urea solution  
 Hcp tamfmÂ bqdnb emb\n 

3. Which of the following colligative property can provide molar mass of proteins with greater precision ?. 
Xmsg X¶ncn¡p¶hbnÂ t{]m«o\nsâ X·m{Xm`mcw I−p]nSn¡m³ Gähpw DNnXamb tImfotKäohv 
KpW[Àaw GXmWv? 
(a) Relative lowering of vapour pressure 
 Bt]IvjnI _mjv]aÀ±Ah\a\w 
(b) Elevation of boiling point 
 Xnf\nebpsS DXvYm]\w 
(c) Depression in freezing point 
 Jcm¦Ah\a\w  
(d) Osmotic pressure 
 hrXnhym]\aÀ±w 

4. The depression in freezing point produced by one molal solution is called _______. 
Hcp tamfmÂ emb\n¡v D−mIp¶ Jcm¦Ah\a\w _______  F¶dnbs¸Sp¶p. 

5. Azeotropic mixture of ethanol – water has the percentage of ethanol 
FYt\mÄþPe Akntbmt{Sm¸nIv an{inX¯nÂ FYt\mfnsâ hym]vXiXam\w  
(a) 100%        (b) 95%       (c)   90%        (d)  5%  

 

2 Marks Questions 
 

6. A 1.2% solution of NaCl is isotonic with 7. 2% solution of glucose. Calculate the van’t Hoff factor of 
NaCl. 
1.2% tkmUnbw t¢mssdUv emb\nbpw 7. 2% ¥qt¡mkv emb\nbpw sFtkmtSmWnIv BWv. tkmUnbw 
t¢mssdUnsâ hm³tlm v̂ LSIw I−p]nSn¡pI. 

7. Give reasons for the following: 
Xmsg ]dbp¶hbpsS ImcWw FgpXpI. 
(a) Aquatic species are more comfortable in cold water than warm water. 
   NpSpshÅ¯nt\¡mÄ XWp¯ shÅamWv PePohnIÄ¡v IqSpXÂ A\ptbmPyw. 
(b) At higher altitudes people suffer from anoxia resulting in inability to think. 

        DbÀ¶ {]tZi§fnÂ BfpIÄ¡v At\mIvknb A\p`hs¸SpIbpw XXv^eambn Nn´mtijn     

          IpdbpIbpw sN¿p¶p. 
8. State Raoult’s for solution containing volatile components. How does Raoult’s law become a special case 

of Henry’s law? 
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 _mjv]ioeapÅ LSI§Ä AS§nb emb\nsb kw_Ôn¡p¶ duÄ \nbaw {]kvXmhn¡pI.        
F§s\bmWv duÄ \nbaw sl³dn \nba¯nsâ Hcp {]tXyI cp]amIp¶Xv? 

9. (a)  What will happen if a pressure greater than osmotic pressure is applied on the solution separated by a 
semipermeable membrane from the solvent? 

     Hcp emb\ntbbpw embIt¯bpw AÀ²XmcyØcw D]tbmKn¨v thÀXncn¨ncn¡p¶ Ahkc¯nÂ,  
     hrXnhym]\aÀ±¯ns\¡mÄ IqSnb aÀ±w emb\nbnÂ {]tbmKn¨mÂ F´p kw`hn¡pw?       

(b) Which of the two, molarity or molality, is a better way to express the concentration of a solution and 
why? 

  samfmcnän AYhm tamfmenän, ChbnÂ Hcp emb\nbpsS KmVX {]kvXmhn¡p¶Xn\v Gähpw 
    A\ptbmPyambXv GXv ?  F´psIm−v ? 

10. A solution containing  8 g of a substance in 100 g of diethyl ether boils at 36.86 
0
C, whereas pure ether 

boils at 35.60 
0
C. Determine the molecular mass of solute (For ether kb= 2.02 K kg mol -1). 

100 {Kmw ssU CussY³ CuYdnÂ 8 {Kmw eo\w ebn¸n¨ emb\nbpsS Xnf\ne 36.86 
0
C BWv.  ip²amb 

CuYdnsâ Xnf\ne 35.6 
0
C BsW¦nÂ eo\¯nsâ X·m{Xm`mcw IW¡m¡pI.   

11. A solution of glucose ( 180 g mol -1) in water is labeled as 10 % by weight. What would be the molality of 
the solution. 

¥qt¡mknsâ (180 {Kmw/tamÄ) Hcp Peobemb\nsb `mca\pkcn¨v 10 % F¶v tcJs¸Sp¯nbncn¡p¶p. 
B emb\nbpsS tamfmenän F´mbncn¡pw ? 
 

3 Marks Questions 
 

12. Calculate the boiling point of a solution containing 1.8 g of a non-volatile solute dissolved in 90g of 
benzene. The boiling point of pure benzene is 353.23 K.  

[Kb=2.53 K kg mol -1 and molecular mass of solute = 58 ] 

      90 {Kmw s_³ko\nÂ 1.8 {Kmw _mjv] ioeanÃm¯ eo\w ebn¸n¨v In«p¶ emb\nbpsS Xnf\ne 

        I−p]nSn¡pI.  ip²amb s_³ko\nsâ Xnf\ne 353.23 K BWv.  

           [Kb=2.53 K kg mol -1, eo\¯nsâ X·m{Xm`mcw = 58 ] 

13.  The freezing point of pure nitrobenzene is 278.8 K. When 2.5 g of an unknown substance is dissolved in 
100 g of nitrobenzene, the freezing point of solution is found to be 276.8 K. What is the molar mass of the 

unknown substance?[ Kf of nitrobenzene  =  8 K kg mol-1] 

 ip²amb ss\t{Sms_³ko\nsâ {ZhWm¦w 278.8 K BWv.  100 g {Kmw s\t{Sms_³ko\nÂ 2.5 {Kmw 

eo\w ebn¸n v̈ In«p¶ emb\nbpsS {ZhWm¦w 276.8 K BWv. F¦nÂ eo\¯nsâ X·m{Xm`mcw F{X?. 

[ss\t{Sms_³ko\nsâ Kf = 8 K kg mol-1] 
14.  (a)  Gas ‘A’ is more soluble in water than Gas ‘B’ at the same temperature. Which one of the two gases 

will have the higher value of Henry’s constant, KH and why? 
  Htc DujvamhnÂ ‘A’ F¶ hmXIw ‘B’ tb¡mÄ Pe¯nÂ IqSpXÂ ebn¡p¶p.  Ch c−nÂ  

sl³dn \nbaØncm¦¯nsâ (KH) hne IqSpXÂ BÀ¡mWv?  F´psIm−v?  
 (b)  Why is ethylene glycol added to water used in radiator of car while driving in a hill station? 
  DbÀ¶ {]tZi§fnÂ bm{X sN¿p¶ t\c¯v ImÀtdUntbädnÂ Pet¯msSm¸w FYneo³ 

ss¥t¡mÄ tNÀ¡p¶sX´n\v ?  
15. (a)  What type of deviation is shown by a mixture of acetone and chloroform?  Justify on the basis of 

strength of intermolecular interactions that develop in the solution. 
  Aktäm¬þt¢mtdmt^mw an{inXw GXp Xcw hyXnbm\amWv ImWn¡p¶Xv ? emb\nbnÂ cq]w 

sImÅp¶ (kwPmXamIp¶) X·m{XIfpsS CSs]SÂ iànbpsS ASnØm\¯nÂ km[qIcn¡pI.  
(b) What type of azeotropic mixture will be formed by the above solution? 
  taÂ]dª emb\n GXv Xcw Akntbmt{Sm¸nIv emb\n D−m¡pw? 

16.  A solution containing 25.6 g of sulphur dissolved in 1000 g of naphthalene (melting point is 80.10C)  gave 
the freezing point lowering by 0.680 0C. Calculate the formula of sulphur. 

       [Kf for naphthalene = 6.8 K kg mol-1, atomic mass of  sulphur = 32] 
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 1000 {Kmw \m v̂Xeo\nÂ ({ZhWm¦w 80.1oC)  25.6 {Kmw kÄ^À ebn¸n¨v In«p¶ emb\nbpsS {ZhWm¦w 

0.680 oC Bbn Ipdbp¶p. kÄ^dnsâ X·m{XmhmIyw IW¡m¡pI. 

       [\m^v¯eosâ Kf  =  6.8 K kg mol-1, kÄ^dnsâ AtämanI `mcw = 32] 

  

4 Marks Questions 
 
17.  (a)  What is osmotic pressure? 

       hrXnhym]\aÀ±w F¶mÂ F´v ? 
       (b)  Molecular mass of NaCl determined by osmotic pressure measurement is found to be half of the actual 

value. Account for it. 
   hrXnhym]\aÀ±w D]tbmKn v̈ tkmUnbw t¢mssdUnsâ X·m{Xm`mcw I−p]nSn¨mÂ bYmÀ°¯nep 

ÅXnsâ ]IpXnbmWv e`n¡p¶Xv. ImcWw hniZam¡pI. 
       (c)  Calculate the osmotic pressure exerted by a solution prepared by dissolving 1.5 g of a polymer of 

molar mass 185000 in 500 ml of water at 27 0C.   
               [R = 0.0821 L atm K-1mol-1] 
   27oC DujvamhnÂ 500 an.en. Pe¯nÂ 185000 X·m{Xm`mcapÅ 1.5 {Kmw t]mfnaÀ ebn¸n¨v  D−m¡p 

¶ emb\nbpsS hrXnhym]\aÀ±w IW¡m¡pI.  
              [R = 0.0821 L atm K-1mol-1] 
18.  (a)   Derive the relation between relative lowering of vapour pressure and molar mass of the solute. 
              Bt]IvjnI _mjv]aÀ±Ah\a\hpw X·m{Xm`mchpw X½nepÅ _Ôw \nÀ²mcWw sN¿pI.       
 (b)  The vapour pressure of pure benzene at a certain temperature is 0.850 bar. A non – volatile, non – 

electrolyte solid weighing 0.5 g when added to 39 .0 g of benzene (molar mass = 78 g mol-1). Then 
vapour pressure of the solution is 0.845 bar. What is the molar mass of the solid substance? 

   ip²amb s_³ko\nsâ _mjv]aÀ±w 0.850 _mÀ BWv.  39 .0  {Kmw s_³ko\nÂ (X·m{Xm `mcw = 

78 {Kmw tamÄ -1
) 0.5 {Kmw _mjv]ioeanÃm¯Xpw CeIvt{Smsseäv AÃm¯Xpamb Hcp Jc]ZmÀ°w 

ebn¸n¨t¸mÄ AXnsâ _mjv]aÀ±w 0.845 _mÀ Bbn amdn.  Jc]ZmÀ°¯nsâ X·m{Xm`mcw 

F´mWv? 
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UNIT 3.   ELECTROCHEMISTRY 
 

1 Mark Questions 
1. The quantity of charge required to obtain one mole of aluminium from Al2O3 is _______ 
     Aepan\nbw HmIvsskUnÂ \n¶pw Hcp tamÄ Aepan\nbw e`n¡p¶Xn\mhiyamb sshZypX NmÀÖnsâ    

Afhv _______ BWv. 
  (a)  1 F           (b)   2 F           (c)   3 F           (d)  6 F  
2. On electrolysing a solution of dilute H2SO4 between platinum electrodes, the gas evolved at anode is _____ 

kÄ^yqdn¡mknUv emb\nsb ¹män\w CeIvt{SmUv D]tbmKn¨v CeIvt{Smfnknkv \S¯nbmÂ At\mUn 

Â kzX{´am¡p¶ hmXIw _______ BWv. 
  (a)   SO2         (b)  SO3           (c)   O2           (d)  H2  
3. Rusting of iron is catalysed by _______ 
 Ccp¼v Xpcp¼n¡p¶ {]hÀ¯\s¯ XzcnXs¸Sp¯p¶Xv _______ BWv.     
     (a) Fe             (b) O2               (c)   Zn          (d)  H +        
4.  The difference between the electrode potential of two electrodes when no current is drawn through the cell 

is called _______ . 
 skÃnÂ \n¶pw sshZypXn {]hln¡m¯ Ahkc¯nÂ c−v CeIvt{SmUpIfpsS CeIvt{SmUv s]m«³jy 

epIÄ X½nepÅ hyXymkamWv _______. 
(a) Cell potential      (b)   Cell emf 
 skÂ s]m«³jyÂ  skÂ C.Fw.F v̂.       
(c)  Potential difference      (d)  Cell voltage 
 s]m«³jyÂ Un^d³kv  skÂ thmÄt«Pv 

5.   When lead storage battery is charged 
 seUv tÌmtdPv _mädnsb NmÀÖv sN¿pt¼mÄ 

(a) The amount of sulphuric acid decreases 
kÄ^yqdn¡mknUnsâ Afhv Ipdbp¶p        

(b) Sulphuric acid is regenerated 
kÄ^yqdn¡mknUv ]p\cpÂ¸mZn¸n¡p¶p 

(c)  The lead electrode becomes coated with lead sulphate    
 seUv kÄt^äv seUv CeIvt{SmUnÂ ASnbp¶p 
(d)  Lead dioxide dissolves      
 seUv UtbmIvsskUv ebn¡p¶p. 
 

2 Marks Questions 
 
6.   For the given cells : Lead storage cell, Mercury cell, Fuel cell and Dry cell.  Answer the following: 
 X¶ncn¡p¶ skÃpIÄ¡v th−n : seUv tÌmtdPv skÂ, saÀ¡pdn skÂ, ^yphÂ skÂ, ss{U skÂ 

Xmsg sImSp¯ncn¡p¶hbpsS D¯csagpXpI. 
(a) Which cell is used in hearing aids? 
 {ihW klmbnIfnÂ D]tbmKn¡p¶ skÂ GXv? 
(b) Which cell was used in Apollo space programme? 
 At¸mtfm kvs]bvkv t{]m{KmanÂ D]tbmKn¨ skÂ GXv? 
(c) Which cell is used in automobiles and inverters?  
 hml\§fnepw C³shÀ«dpIfnepw D]tbmKn¡p¶ skÂ GXv? 
(d) Which cell does not have long life? 
 BbpÊv Gähpw IpdhpÅ skÂ GXv? 

7.  The resistance of a conductivity cell containing 0.001M KCl solution at 298 K is 1500 Ω. What is the cell 
constant if the conductivity of 0.001M KCl solution at 298 K is1.46 x 10 -3 S cm -1 

 298 K DujvamhnÂ 0.001M s]m«mkyw t¢mssdUv emb\n \nd¨ncn¡p¶ Hcp I−IvSnhnän skÃnsâ 

{]Xntcm[w 1500 Ω BWv. 0.001 M s]m«mkyw t¢mssdUnsâ I−IvSnhnän 298K Â 1.46 x 10 -3 S cm-1 

BsW¦nÂ skÂ Øncm¦¯nsâ hne I−p]nSn¡pI.        
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8.  How much electricity in terms of Faraday is required to produce:  
 Xmsg]dbp¶h DÂ¸mZn¸n¡m³ F´pam{Xw ^mctU sshZypXnbmWv h−Xv. 

(a) 20.0 g Ca from molten CaCl2?   
DcpInb ImÕyw t¢mssdUnÂ \n¶pw 20.0 {Kmw ImÕyw 

(b) 40.0 g Al from molten Al2O3? 
DcpInb Aepan\nbw HmIvsskUnÂ \n¶pw 40.0 {Kmw Aepan\nbw 

9.  A solution of CuSO4 is electrolysed for 10 min by a current of 1.5 A. What is the mass of copper deposited 
at the cathode? 

 1.5 Bw]nbÀ sshZypXn tIm¸À kÄt^äv emb\nbnÂ IqSn 10 an\n«v IS¯n hn«mÂ ImtYmUnÂ 
\nt£]n¡s¸Sp¶ tIm¸dnsâ `mcw IW¡m¡pI. 

10.  Explain with graph, the variation of molar conductivity of a strong and weak electrolyte with dilution. 
 iàntbdnbXpw iàn IpdªXpamb CeIvt{Smsseäns\ t\À¸n¡pt¼mÄ tamfmÀI−IvSnhnänbnÂ 

D−mIp¶ hyXnbm\w {Km v̂ D]tbmKn v̈ hniZoIc¡pI.  
11 Give any one difference between dry cell and lead storage cell. Write the cathode reaction of dry cell and 

overall cell reaction of lead storage cell. 
ss{UskÃpw seUvtÌmtdPvskÃpw X½nepÅ Hcp hyXymkw FgpXpI.  ss{UskÃnsâ ImtYmUnÂ \S 
¡p¶ {]hÀ¯\hpw seUvtÌmtdPv skÃnsâ s]mXphmb cmk{]hÀ¯\hpw FgpXpI. 

 

3 Marks Questions 
 

12.  Predict the products of electrolysis in each of the following.  
 Xmsg ]dbp¶ CeIvt{Smfnknkv {]hÀ¯\¯nÂ e`n¡p¶ DÂ¸¶§fpsS t]cv FgpXpI. 

(a) An aqueous solution of AgNO3 using silver electrodes. 
knÂhÀ ss\t{Säv emb\nbnÂ knÂhÀ CeIvt{SmUpIÄ D]tbmKn¡p¶p. 

 (b) An aqueous solution of AgNO3 using platinum electrodes.  
   knÂhÀ ss\t{Säv emb\nbnÂ ¹män\w CeIvt{SmUpIÄ D]tbmKn¡p¶p. 
 (c) A dilute solution of CuCl2 using platinum electrodes. 
   Ip{]nIv t¢mssdUv emb\nbnÂ ¹män\w CeIvt{SmUpIÄ D]tbmKn¡p¶p. 
13.  (a)  Express the relation between  conductivity and molar conductivity of a solution. 
  Hcp emb\nbpsS I−IvSnhnänbpw tamfmÀ I−IvSnhnänbpw X½nepÅ _Ôw FgpXpI. 

(b) The conductivity of a 1.5 M solution of an electrolyte is found to be 138.9 S cm 2 mol -1.  Calculate the 
conductivity of the solution. 
1.5 tamfmÀ KmVXbpÅ Hcp CeIvt{Smsseänsâ I−IvSnhnän 138.9 S cm 2 mol -1.   BsW¦nÂ AXn 
sâ tamfmÀ I−IvSnhnän IW¡m¡pI. 

14.  State and explain Kohlrausch’s law of independent migration of ions. How can the degree of dissociation 
of acetic acid be calculated from its molar conductance data. 

 AtbmWpIfpsS kzX{´amb ]memb\s¯¡pdn¨pÅ tImÄdmjknsâ \nbaw {]kvXmhn¡pI.  
AkänIv BknUnsâ tamfmÀ I−IvSn³knsâ hnebnÂ \n¶pw AtbmWoIcW¯nsâ tXmXv 
I−p]nSn¡p¶sX§s\? 

15. What is a nickel - cadmium cell? State its one merit and one demerit over lead storage cell.    Write the 
overall reaction that occurs during discharging of this cell. 

 \n¡ÂþImUvanbw skÂ GXv Xcw skÃmWv?  seUv tÌmtdPv skÃnt\¡mÄ CXnsâ Hcp ta·bpw 
\yq\Xbpw {]kvXmhn¡pI.  Cu skÃnÂ \S¡p¶ s]mXphmb {]hÀ¯\w hniZoIcn¡pI. 

16.  Calculate E0 cell for the following reaction at 298 K: 
 Xmsg X¶ncn¡p¶ cmk{]hÀ¯\¯nsâ ASnØm\¯nÂ 298 K DujvamhnÂ ECell sâ aqeyw I−p 

]nSn¡pI. 

 2 Cr (s)  +  3Fe 2+ (0.01 M)   →   2 Cr 3+ (0.01 M) +  3Fe (s).  Given :  E cell = 0.261 V 
 

4 Marks Questions 
 
17. (a)  Standard Electrode potential of Daniel cell is 1.1V. Calculate the standard Gibbs energy for the reaction.  
  Um\nbÂ skÃnsâ Ìm³tUÀUv CeIvt{SmUv s]m«³jyÂ 1.1 V BWv.  Xmsg X¶ncn¡p¶ cmk 

{]hÀ¯\¯nsâ Ìm³tUÀUv Kn_vkv F\ÀPn IW¡m¡pI. 
              Zn (s)  +  Cu 2+ (aq)   →   Zn 2+ (aq) +  Cu (s)    
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      (b)  How many electrons flow through a metallic wire if a current of 0.5 A is passed for 2 hours ? 
              [Given : 1 F = 96500 C]. 
  Hcp temlI¼nbnÂ IqSn 0.5 Bw]nbÀ sshZypXn 2 aWn¡qÀ IS¯nhn«mÂ F{X CeIvt{SmWnsâ 

Hgp¡v D−mIpw? [1 F = 96500 C] 
18.  (a)  When a copper electrode [ Cu(s) │Cu 2+ (1M) ] combines with SHE at 298 K and forms a galvanic 

cell.  E0 cell  is found to be 0.34 V.  Write cell representation of the cell and calculate the standard 
electrode potential of the copper electrode.   

  Ìm³tUÀUv ssl{UP³ CeIvt{SmUpambn tIm¸À CeIvt{SmUns\ [Cu(s)|Cu2+ (1M)] _Ôn¸n¨v 

sIm−v Hcp Um\nbÂ skÂ 298 K DujvamhnÂ D−m¡p¶p.  CXnsâ Eo
Cell 0.34 V BWv.  skÃns\ 

Nn{XoIcn¨v tIm¸À CeIvt{SmUnsâ Ìm³tUÀUv CeIvt{SmUv s]m«³jyÂ IW¡m¡pI. 
 (b)  Two electrodes X and Y have standard electrode potentials of  – 0.25 V and + 0.80 V. Identify the 

oxidation and reduction electrodes, if they are coupled to form a cell. Also find the standard cell 
potential of the cell. 

  X, Y F¶o CeIvt{SmUpIfpsS CeIvt{SmUv s]m«³jyÂ bYm{Iaw 0.25 V, 0.80 V BWv.  
HmIvkntUj³ CeIvt{SmUpw dnU£³ CeIvt{SmUpw GsX¶v Is−¯n skÃnsâ Ìm³tUÀUv 
skÂ s]m«³jyÂ G{XbmsW¶v Is−¯pI. 
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UNIT 4.   CHEMICAL KINETICS 
 

1 Mark Questions 
 
1.   For the reaction 2A + B → 3C + D, which of the following does not express the reaction rate? 
 2A + B → 3C + D, Cu cmk{]hÀ¯\¯nsâ thKXsb kqNn¸n¡m¯Xv GXv? 

      (a)   
�[�]

��
              (b)  –   

�[	]

� ��
       (c)  –   

�[�]

���
        (d)   –  

�[�]

��
   

2.  The substance with initial concentration of  ‘a’ mole L
–1 proceeds according to zero order kinetics.  The 

time it takes for the completion of the reaction is ( k = rate constant) 

 Hcp ]ZmÀ°¯nsâ XpS¡¯nepÅ KmVX ‘a’ mol L
–1 BWv.  Cu {]hÀ¯\w Hcp kotdm HmÀUÀ cmk 

{]hÀ¯\amWv.  Cu {]hÀ¯\w ]qÀ®amtdmp¶Xn\v FSp¡p¶ kabw ( k = tdäv tIm¬â v) 

       (a)    

 

�
              (b)     

�



                (c)   




 ��
             (d)  

�

�

 

3.  Unit of rate constant for zero order reaction is  
 kotdm HmÀUÀ cmk{]hÀ¯\¯nsâ tdäv tIm¬Ìânsâ bqWnäv. 

       (a)   mole L
–1 s

–1   (b)   mole L
–1 s     (c)  mole 2 L

–2 s
–1  (d)   s

–1         
4. A catalyst increases the rate of a chemical reaction by 
 Hcp DÂt{]cIw cmk{]hÀ¯\¯nsâ thKX Iq«p¶Xv. 
       (a)   increasing the activation energy       (b)   decreasing the activation energy       
  BIvSnthj³ F\ÀPn Iq«p¶p  BIvSnthj³ F\ÀPn Ipdbv¡p¶p 
       (c)   reacting with reactants                      (d)  reacting with products       
  A`nImcI§fpambn {]hÀ¯n¡p¶p  DÂ¸¶§fpambn {]hÀ¯n¡p¶p 
5.   Order of a radioactive disintegration reaction is 
 tdUntbm BIvSohv UnkvCât{Kj³sâ HmÀUÀ 
       (a)   0          (b)  1       (c)  2   (d) 3 
 

2 Marks Questions 
 

6.   The rate constant for a first order reaction is 60 s – 1. How much time will it take to reduce the initial 

concentration of the reactant to its  
1

16
  th value? 

 H¶mw HmÀUÀ cmk{]hÀ¯\¯nsâ tdäv tIm¬Ìânsâ hne 60 s
–1 BWv. XpS¡¯nepÅ KmVXbpsS  

�

��
   BIm³ F{X kabw FSp¡pw? 

7.    A chemical reaction is 2nd order with respect to a reactant. How is the rate of the reaction affected if the 
concentration of reactant is 
(a)  doubled                       (b)  reduced to half 

 Hcp A`nImcI¯nsâ ASnØm\¯nÂ Hcp cmk{]hÀ¯\w c−mw HmUÀ BWv. A`nImcI¯nsâ      
     KmVX Xmsg¸dbp¶ kmlNcy§Ä cmk{]hÀ¯\ thKXsb F§s\ kzm[o\n¡p¶p.   
          (a)  Cc«n¡p¶p             (b)  ]IpXnbmIp¶p 

8.  (a)  For a reaction A + B → P, the rate law is given by, r = k[A]½ [B]2.  What is the order of this reaction. 
   A + B → P F¶ cmk{]hÀ¯\¯nsâ tdäv \nbaw r = k[A]½ [B]2.  CXnsâ HmUÀ F{XbmWv? 
 (b)  A first order reaction is found to have a rate constant, k = 5.5 x 10–14 s–1.  Find the half life of the 

reaction. 
   H¶mw HmUÀ cmk{]hÀ¯\¯nsâ tdäv tIm¬Ìânsâ hne, k = 5.5 x 10–14 s–1.  Cu {]hÀ¯\ 

¯nsâ AÀ²mbpkv IW¡m¡pI. 
9.  (a)  What is the effect of adding a catalyst on  
  ImäenÌv tNÀ¡pt¼mÄ Xmsg¸dbp¶hbnÂ D−mIp¶ amäw hnhcn¡pI. 
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[R] 

Time (t) 

                 (i)  Activation energy (Ea)  
   BIvSnthj³ F\ÀPn 
  (ii)  Gibbs energy (∆G) of a reaction 
    Hcp cmk{]hÀ¯\¯nsâ Kn_vkv F\ÀPn 
 (b)  Differentiate between average rate and instantaneous rate of reaction. 
  Hcp cmk{]hÀ¯\¯nsâ BhtdPv tdäpw C³Ìtâ\nbkv tdäpw XmcXayw sN¿pI. 
10.  Draw the plot of  ln k  vs 1/ T for a chemical reaction. What does the intercept represent? What is the 

relation between slope and Ea? 

 Hcp cmk{]hÀ¯\¯nsâ  ln k vs 1/T F¶ {Km v̂ hc¨v CâÀsk]väv Fs´¶v hyàam¡pI.  tÉm¸pw Ea 
bpw X½nepÅ _Ôw hyàam¡pI. 

11.  For a reaction : 2N2O5(g) → 2NO2(g) + O2(g), the rate of formation of  NO2(g)  is 2.8 x 10–3 Ms–1.  
Calculate the rate of disappearance of  N2O5 (g).   

 2N2O5(g) → 2NO2(g) + O2(g), Cu cmk{]hÀ¯\¯nÂ NO2(g) D−mIp¶Xnsâ thKX 2.8 x 10–3 Ms–1 

BWv.   N2O5 (g) sâ KmVXbnÂ D−mIp¶ hyXymk¯nsâ thKX IW¡m¡pI.   
 

3 Marks Questions 
 
12.   For a chemical reaction, variation of concentration, [R]  against time (t) in second plot is given. 
   Hcp cmk{]hÀ¯\¯nsâ KmUXbpw kabhpw X½nepÅ {Km v̂ Xmsg X¶ncn¡p¶p. 
 

 
 
 
 
 
 
      
    
 
 
 
 (a)  What is the order of the reaction? 
   Cu cmk{]hÀ¯\¯nsâ  HmUÀ F´mWv? 
 (b)  Give the relation between half life period and rate constant of this reaction. 
  Cu cmk{]hÀ¯\¯nsâ  AÀ²mbpÊpw tdäv tIm¬Ìâpw X½nepÅ _Ôw FgpXpI. 
 (c)  What does the slope of the above line indicate? 
  aqIfnse t\ÀtcJbpsS tÉm v̧ F´ns\ kqNn¸n¡p¶p? 
13.  A first order reaction takes 20 minutes for 25 % completion. Calculate the time when 75 % of reaction will 

be completed. [ log 2 = 0.3010, log 3 = 0. 4771, log 4 = 0.6021] 
 Hcp H¶mw HmUÀ cmk{]hÀ¯\w 25 % ]qÀ¯nbm¡m³ 20 an\n«v FSp¡p¶p. A§s\bmsW¦nÂ 75 % 

]qÀ¯nbm¡p¶Xn\v FSp¡p¶ kabw F{XbmWv? [log 2 = 0.3010, log 3 = 0. 4771, log 4 = 0.6021] 

14.  (a)  Prove that the half life period of a first order reaction is independent of initial concentration of the 
reactant. 

  Hcp H¶mw HmUÀ cmk{]hÀ¯\¯nsâ AÀ²mbpÊv A`nImcI§fpsS KmVXsb B{ibn¡p¶n 
sÃ¶v sXfnbn¡pI. 

 (b)  Name the type of reaction which appears to be of higher order but actually follows lower order 
kinetics. 

  DbÀ¶ HmUÀ {]Xo£n¡pIbpw F¶mÂ bYmÀ°¯nÂ Xmgv¶ HmUÀ ImWn¡pIbpw sN¿p¶ 
Xcw cmk{]hÀ¯\w GXv t]cnÂ Adnbs¸Sp¶p?  

15.  Show that in case of a first order reaction, the time required for 99.9 % of the reaction to take place is about 
ten times than that required for half the reaction. 

 Hcp H¶mw HmUÀ cmk{]hÀ¯\¯nsâ 99.9 % {]hÀ¯n v̈ Xocms\Sp¡p¶ kabw AÀ²mbpÊnsâ 
]¯nc«nbmsW¶v sXfnbn¡pI. 
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16.  Give reason: 
 ImcWw hyàam¡pI. 
 (a)  In some reactions, energy possessed by colliding molecules is more than the threshold energy, yet the 

reaction is slow. 
  Nne cmk{]hÀ¯\§fnÂ Iq«nap«p¶ X·m{XIfpsS DuÀÖw s{XtjmÄUv DuÀÖt¯¡mÄ 

IqSpXÂ BsW¦nepw cmk{]hÀ¯\¯nsâ thKX IpdhmWv. 
 (b)  Molecularity has no meaning in complex or multi - step reactions. 
  tImw¹Ivkv AsÃ¦nÂ H¶ne[nIw sÌ¸pIfnÂ \S¡p¶ cmk{]hÀ¯\§fnÂ tamfn¡pemcnän¡v 

{]m[m\yw CÃ. 
 (c)  Reactions of molecularity greater than three are rare. 
  tamfn¡pemcnän aq¶nÂ IqSpXÂ hcp¶ cmk{]hÀ¯\§Ä A]qÀÆamWv. 

 

4 Marks Questions 
 

17.  For a reaction : 2 NH3 (g)    
��
→  N2 (g)  + 3 H2 (g)  Rate, r  =   k 

  2 NH3 (g)    
��
→  N2 (g)  + 3 H2 (g)  Cu cmk{]hÀ¯\¯nsâ tdäv , r  =   k 

 
 (a)  Write the order and molecularity of this reaction. 
  CXnsâ HmUdpw tamfn¡pemcnänbpw FgpXpI. 
 (b)  Give the differences between order and molecularity. 
  HmUdnsâbpw tamfn¡pemcnänbpsSbpw hyXymkw FgpXpI. 
 (c)  The above reaction follows zero order at high pressure as well as first order at low pressure.  Explain 

why? 
  Cu cmk{]hÀ¯\w DbÀ¶ aÀ±¯nÂ kotdm HmUdmbpw Xmgv¶ aÀ±¯nÂ H¶mw HmUdmbpw 

{]hÀ¯n¡p¶p.  ImcWw hniZmam¡pI. 
18. (a)  How does rate constant of a reaction vary with temperature? Explain. 
  Hcp cmk{]hÀ¯\¯nsâ tdäv tIm¬Ìâv Dujvamhn\v A\pkcn v̈ F§s\ hyXymks¸Sp¶p 

F¶v hniZoIcn¡pI. 
 (b)  The rate of a reaction quadruples when temperature changes from 293 K to 313 K. Calculate the 

activation energy (Ea) assuming that it does not change with time.  
                 [R = 8.314J K–1mol–1] 
  Dujvamhv 293 K bnÂ \n¶pw 313 K Bbn amdpt¼mÄ cmk{]hÀ¯\ thKX \menc«n BIp¶p.  

kabw amdp¶Xn\\pkcn¨v BIvSnthj³ F\ÀPn amdp¶nÃ F¶ ASnØm\¯nÂ Cu 
cmk{]hÀ¯\¯nsâ BIvSnthj³ F\ÀPn IW¡m¡pI.  

                     [R = 8.314J K–1mol–1] 
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UNIT 5.   SURFACE CHEMISTRY 
 

1 Mark Questions 
 

1. Which of the following electrolyte will have maximum coagulating value Fe(OH)3 sol? 

Fe(OH)3 tkmfns\ sImbmKpteäv \S¯m³ Xmsg sImSp¯ncn¡p¶ CeIvt{SmsseänÂ Gähpw IqSpXÂ 

sImbmKpte³ hne DÅXv? 

 (a)  NaCl      (b) K2SO4           (c) MgSO4          (d) Al2(SO4)3 

2. Which of the following is true about adsorption? 

AUvtkmÀ]vjs\ kw_Ôn¨v icnbmb {]kvXmh\ GXv? 

(a)     ∆G < 0,   ∆S > 0,  ∆H < 0        (b)     ∆G < 0, ∆S > 0, ∆H > 0     

(c)     ∆G < 0,   ∆S <  0,  ∆H < 0       (d)      ∆G > 0, ∆S > 0, ∆H < 0 

3. Gelatine is mostly used in making ice cream in order to  
sFkv{Iow \nÀ½mW¯nÂ sPemän³ D]tbmKn¡p¶Xv. 

(a)   prevent the formation of colloidal sol                    
 sImtfmbnUÂ tkmÄ D−mIp¶Xv XSbp¶Xn\v 

(b)  enrich the fragrance         
 aWw hÀ²n¸n¡m³ 

(c)   prevent crystallization and stabilize the mix              
 an{inXs¯ Øncs¸Sp¯n {InÌÂ cq]w sImÅp¶Xv XSbp¶Xn\v 

(d)   modify the taste 
 cpNn amdp¶Xn\v 

4. Cellulose dispersed in ethanol is called 
FYt\mfnÂ Unkvt]gvkv sNbvX skÃptemkns\ Adnbs¸Sp¶Xv 

 (a)  emulsion            (b)  micelle            (c)  aerosol            (d)  collodion 
  FaÂj³  aokÂ  FbvtdmtkmÄ  sImtfmUntbm¬ 

5. Alum purify muddy water by  
 sNfnshÅs¯ Bew ip²oIcn¡p¶Xv 

     (a)  dialysis              (b) adsorption        
  Ubmenknkv  AUvtkmÀ]vj³ 

 (c)  coagulation      (d)  electrodialysis 
  sImbmKpte³  CeIvt{SmUbmenknkv 

 

2 Marks Questions 
 
6. Give reasons 
 ImcWw hyàam¡pI 

(a) Deltas are produced when river water meet the sea water. 
  \Zo Pew ISÂ Pehpambn tNcp¶nS¯v UÂä cq]wsImÅp¶p. 

(b) Medicines are more effective in colloidal state. 
  sImtfmbnUÂ cq]¯nepÅ acp¶pIÄ IqSpXÂ ^e{]ZamWv. 

7.   (a)  Colloidal sulphur exhibits Brownian movement while a solution of sulphur in carbon disulphide does 

not.   Explain. 
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  sImtfmbnUÂ cq]¯nepÅ kÄ^À {_uWnb³ Ne\w ImWn¡p¶p.  F¶mÂ ImÀ_¬ ssU 
kÄss^UnÂ ebn¸n v̈ kÄ^À AXv ImWn¡p¶nÃ.  hniZoIcn¡pI. 

 (b)  What causes Brownian movement in a colloidal solution? 
  sImtfmbnUÂ emb\nIfnÂ {_uWnb³ Ne\¯n\pÅ ImcWsa´v? 

8.   (a)  What is shape selective catalysis? 
  F´mWv tj¸v skeIvSohv ImäenÌpIÄ?  

 (b)  What do you understand by activation of adsorbent?  How is it achieved? 
  AUvtkmÀ_âns\ BIvSnthäv sN¿pI F¶XpsIm−v AÀ°am¡p¶sX´v?  AXv F§s\ 

ssIhcn¡mw?   

9.  (a)  Action of soap is due to emulsification and micelle formation.  Comment. 
  FaÂkn^nt¡j\pw aoskÂ cq]oIcWhpw hgnbmWv tkm¸nsâ hr¯nbm¡Â {]{Inb 

\S¡p¶Xv.  km[qIcn¡pI. 

 (b)  Name the temperature above which the formation of micelle take place. 
  aoskÂ cq]w sImÅm³ th−p¶ Dujvamhns\ GXv t]cnednbs¸Sp¶p? 

10.  What happens when  
 F´p kw`hn¡p¶p: 

 (a)  a freshly prepared precipitate of Fe (OH)3 is shaken with a small amount of FeCl3 solution? 

  ]pXpXmbn D−m¡nb Fe(OH)3 Ahjn]vXs¯ Ipd¨v  FeCl3 tNÀ¯v Ipep¡pI.  

 (b)  an emulsion is centrifuged? 
  FaÂjs\ sk³{Sn^yqKv sN¿p¶p. 

11.   (a)  What is the reason for the stability of colloidal sol? 
  sImtfmbnUpIÄ¡v ØncX DÅXv F´psIm−v?  

 (b)  Cottrell smoke precipitator is fitted at the mouth of the chimney in factories. Why? 
  ^mIvSdnIfpsS Nn½n\nbnÂ tImÀ«Â kvtam¡v {]nkn¸ntääÀ LSn¸n¡p¶Xn\v ImcWsa´v?  

 

3 Marks Questions 
 
12.  (a)  What type of colloid is formed when a liquid is dispersed in a solid? Give an example. 
  Jc]ZmÀ°¯ntebv¡v {ZmhI IWnIIsf Unkvt]gvkv sNbvXp In«p¶ sImtfmbnUv GXv hn`mK 

¯nÂ hcpw. Hcp DZmlcWw FgpXpI. 

 (b)  Write the dispersed phase and dispersion medium of milk.  
  ]mensâ Unkvt]gvkvUv t^kpw Unkvt]gvk³ aoUnbhpw FgpXpI. 

 (c)  Write one similarity between physisorption and chemisorptions. 
  ^nkntkmÀ]vk\pw sIantkmÀ]vk\pw X½nepÅ Hcp kmZriyw FgpXpI. 

13.  Explain what is observed when: 
 F´p kw`hn¡psa¶v hniZoIcn¡pI. 

 (a)  a beam of light is passed through a colloidal sol? 
  sImtfmbnUÂ tkmfnÂ IqSn {]Imiw IS¯n hnSp¶p. 

(b)  NaCl is added to hydrated ferric oxide sol? 

 sslt{UäUv s^dnIv HmIvsskUv tkmfnÂ NaCl tNÀ¡p¶p. 

(c) electric current is passed through a colloidal sol? 
sImtfmbnUÂ tkmfnÂ IpSn Idâv IS¯nhnSp¶p. 

14.  Sols are colloidal systems in which dispersion medium is liquid and dispersed phase is solid. 
 Unkvt]gvk¬ aoUnbw {ZmhIhpw Unkvt]gvkvUv s^bnkv {ZmhIhpamb tImtfmbnUmWv tkmÄ. 

 (a)  Write any four differences between lyophilic sols and lyophobic sols. 
  etbm^nenIv tkmfpw etbmt^m_nIv tkmfpw X½nepÅ \mev hyXymk§Ä 

        (b)  Mention any two ways by which lyophilic colloids can be coagulated. 
  etbm^nenIv sImtfmbnUpIsf sImbmKpteäv sN¿p¶ c−v amÀ¤§Ä \nÀt±in¡pI. 
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15.  (a)  Out of silica gel and anhydrous CaCl2, which will absorb the water vapours? 
  knen¡e sPÃpw A¬ssl{Ukv ImÕyw t¢mssdUpw ]cnKWn¨mÂ, Pe_mjv]w BKncWw 

sN¿p¶Xv GXmWv?  

 (b)  Out of H2SO4 and H3PO4, which one is more effective in causing coagulation of positively charged 

sol?. Give reason. 

  t]mknäohv NmÀÖpÅ tkmfns\ sImbmKpteäv sN¿m³ Gähpw \ÃXv H2SO4 BtWm H3PO4 

BtWm?  ImcWw hyàam¡pI. 

 (c)  Out of sulphur sol and proteins, which one forms macromolecular colloids? 
  kÄ^À tkmfnepw t{]m«o\nepw am{Imtamfn¡pfmÀ sImtfmbnUv D−m¡p¶Xmcv? 

16.  Write one difference in each of the following: 
 Xmsg sImSp¯ncn¡p¶hbpsS GsX¦nepw Hcp hyXymkw FgpXpI. 

 (a)  Multimolecular colloid and Associated colloid 
  aÄ«n tamfn¡pfmÀ sImtfmbnUpw AtkmkntbäUv sImtfmbnUpw 

 (b)  Coagulation and Peptisation 
  sImbmKptej\pw s]]vsätkj\pw  

 (c)  Homogeneous catalysis and Heterogeneous catalysis 
  tlmtamPo\nbkv Imämenknkpw slätdmPo\nbkv Iämenknkpw 

 

4 Marks Questions 
 

17.   Give reasons for the following: 
 ImcWw hyàam¡pI. 

 (a)  Leather get hardened after tanning 
  Sm\nwKn\p tijw seXdnsâ I«nIqSp¶p. 

 (b)  FeCl3 is preferred over KCl  in case of a cut leading to bleeding. 

  apdnhnÂ \n¶pw hcp¶ càw I«]nSn¡m³ KCl s\¡mÄ \ÃXv  FeCl3 BWv. 
 (c)  Freundlich isotherm becomes independent of pressure at high pressure for a gas adsorbed on a solid. 
  Hcp Jc]ZmÀ°¯nÂ hmXI X·m{XIsf AUvtkmÀ_v sN¿pt¼mÄ DbÀ¶ aÀ±¯nÂ s{^Uven¨v 

AUvtkmÀ]vj³ sFtkmtXw aÀ±¯ns\ kzm[o\n¡p¶nÃ. 
(d) The extent of physisorption decreases with rise in temperature but chemisorption first increases and 

then decreases with rise in temperature. 
^nkn¡Â AUvtkmÀ]vj\nÂ AUvtkmÀ]vjsâ \nc¡v Dujvamhv IqSp¶X\pkcn¨v Ipdbp¶p. 
F¶mÂ sIan¡Â AUvtkmÀ]vj\nÂ AUvtkmÀ]vjsâ \nc¡v Dujvamhv IqSp¶X\pkcn¨v 
BZyw IqSp¶p, ]ns¶ Ipdbp¶p.  

18.  (a)  What role does adsorption play in heterogeneous catalysis? Give the mechanism of heterogeneous 
catalysis. 

  slätdmPo\kv IämenknknÂ AUvtkm]vjsâ ]s¦´v? slätdmPo\kv Iämenknknsâ sa¡m 
\nkw hyàam¡pI. 

 (b)  What is shape selective catalysis? Give example. 
  sjbv]v skeIvSohv ImäenÌv F´mWv?  DZmlcWw FgpXpI. 
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UNIT 6.   GENERAL PRINCIPLES AND PROCESSES OF 

ISOLATION OF ELEMENTS 

 
1Mark Questions 

 

1. In blast furnace iron oxide is reduced by ______  
»mÌv ^ÀWknÂ Ccp¼ns\ \ntcmIvkoIcn¡¶Xv  ______BWv. 

 (a)  SiO2     (b)   CO   (c)   C    (d)  CaCO3  
2. Which of the following ores does not represent the ore of iron. 

Xmsg X¶ncn¡p¶hbnÂ Ccp¼nsâ Abncv AÃm¯Xv GXv? 
 (a)   Haematite      (b)    Magnetite    (c)  Cassiterite    (d)  Limonite  
  tlassääv  amássääv  Imknässdäv  entamss\äv 
3. The method of concentrating the ore which makes use of the difference in density between ore and 

impurities is called 
 Abncnsâbpw AXnÂ AS§nbncn¡p¶ amen\y¯nsâbpw km{µXbpsS ASnØm\¯nÂ Abncns\ 

km{µoIcn¡p¶ amÀ¤amWv. 
(a) Levigation         (b)  Magnetic separation       
 sehntKj³  amáänIv thÀXncn¡Â 
(c)  Leaching       (d)  Froth floatation 
 eo¨nwKv  t{^m¯v v̂tfmt«j³ 

4. The temperature of the slag zone in the metallurgy of iron using blast furnance is  ______  
Ccp¼v DÂ¸mZn¸n¡p¶ »mÌv ^ÀWknÂ ÉmKv tkmWnse Dujvamhv  ______ BWv. 
(a) 2170 K        (b)  1570 K        (c)   1270 K     (d)  1070 K 

5. Which method of purification is represented by the equation. 
Xmsg ]dbp¶ cmk{]hÀ¯\w GXv ip²oIcW {]{Iobsb kqNn¸n¡p¶p? 

 Ti (Impure)  +  2 I2   
��� �
����    TiI4       

���� �
�����     Ti (Pure)   +  2 I2    

(a) Mond’s process     (b)   Van Arkel process 
 tam−vkv {]{Inb  hm³ AÀs¡Â {]{Inb        
(c)  Liquation      (d)  Distillation  
 Dcp¡n thÀXncn¡Â  tkzZ\w 

 

2 Marks Questions 

 

6.   There are different verities of steels. 
 ÌoepIÄ ]eXc¯nep−v. 
 (a)  Name the purest form of commercial iron?  
  Ccp¼nsâ Gähpw ip²amb cq]taXv? 
 (b)  What is the % of C in it? 
  AXnÂ F{X iXam\w ImÀ_¬ AS§nbn«p−v? 
 (c)  How is cast iron different from pig iron? 
  ]nKv AbWnÂ \n¶pw Dcp¡v F§s\ hyXymks¸«ncn¡p¶p? 
7.  Explain why : 
 ImcWw hyàam¡pI. 

(a) Copper can be extracted by hydro metallurgy but not Zinc. 
tIm¸dnsâ teml kwkvIcW¯n\v sslt{Um saäeÀPn D]tbmKn¡mw F¶mÂ kn¦v teml¯n\v 
CXv km[yaÃ.  F´psIm−v? 

(b) Zn is not extracted through reduction by CO. 
kn¦ns\ ImÀ_¬ tamtWmIvsskUv D]tbmKn¨v \ntcmIvkoIcn¡m³ IgnbnÃ. 
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8.  Name the common elements present in anode mud in the electro refining of copper. Why are they so 
present? 

 tIm¸dns\ ip²oIcn¡pt¼mÄ At\mUv aÍnÂ ImWs¸Sp¶ aäp aqeI§Ä Gh?  Ah A§s\ ImW 
s¸Sm³ ImcWsa´v? 

9.  Concentration, refining etc. are different stages in the extraction of a metal from its ores. 
 km{µWw, ip²oIcWw XpS§nb teml kwkvIcW¯nsâ hnhn[ amÀ¤§fmWv. 
 (a) Explain the principle behind smelting. 
  kvsaÂänwKv {]{InbbpsS ASnØm\ XXzw hniZam¡pI. 
 (b) Explain a method to prepare ultrapure silicon. 
  hfsc ip²amb knen¡¬ \nÀ½n¡p¶Xn\p]tbmKn¡p¶ Hcp amÀ¤w hniZoIcn¡pI. 
10.  State the basis of refining of substance using chromatography. Under what circumstances is this method 

specially used for? 
 teml ip²oIcW¯nÂ t{Imamtäm{Km^nIv coXn Ahew_n¡p¶Xnsâ ASnØm\sa´v?  GXv 

kmlNcy ¯nemWv Cu coXn {]tXyIambn D]tbmKn¡p¶Xv? 
11.  What are the roles of cryolite and graphite rod in the electrometallurgy of aluminium? 
 Aepan\nb¯nsâ teml kwkvIcWthfbnÂ {Itbmsseänsâbpw ImÀ_¬ ZWvUnsâbpw ]s¦´v? 

 

3 Marks Questions 
 
12.   Some common concentration methods of ores are listed below. 
  Abncnsâ km{µW¯n\p]tbmKn¡p¶ Nne coXnIÄ NphsS tNÀ¡p¶p. 
  Froth floatation, magnetic separation, liquation and leaching 
  t{^m¯v v̂tfmt«j³, Im´w D]tbmKn¨pÅ thÀXncn¡Â, Dcp¡n thÀXncn¡Â, eo¨nwKv 
   (a) Identify the odd one. Justify your answer. 
   Häbm³ Bsc¶v Is−¯n km[pIcn¡pI. 
        (b)   Illustrates the process with an example. 
    DZmlcW klnXw hniZoIcn¡pI.  

13.   (a)  The reaction,  Cr2O3 (s)  +  Al (aq)   →   2Cr  +  Al2O3 , ∆G =  –  421 KJ is thermodynamically 
feasible as it is apparent from the Gibbs energy value. Why does it not take place at room temperature? 

   Cr2O3 (s)  +  Al (aq)   →   2Cr  +  Al2O3 , ∆G =  –  421 KJ.  Xm]KXnI kn²m´a\pkcn¨v {^o 
F\ÀPnbpsS aqey¯nsâ ASnØm\¯nÂ cmk{]hÀ¯\w {]mhÀ¯nIamWv.  F¶mÂ A´co£ 
DujvamhnÂ CXv \S¡p¶nÃ.  ImcWsa´v? 

  (b)  The choice of reducing agent in a particular case depends on thermodynamic factor.  How far do you 
agree with this statement? Support your answer with an example. 

   Hmtcm {]tXyI kmlNcy¯nepw \ntcmIvkoImcnsb XncsªSp¡p¶Xv sXÀtam ssU\manIv 
LSI§sf ASnØm\am¡nbmWv Xm¦Ä Cu {]kvXmh\tbmSv tbmPn¡p¶pt−m?  DZmlcW 
klnXw hyàam¡pI. 

14.   Give reason : 
  ImcWw hyàam¡pI. 
  (a)   Extraction of copper from its pyrites difficult than that from its oxide through reduction. 
   tIm¸À temls¯ AXnsâ HmIvsskUnÂ \n¶pw \ntcmIvkoIcWw hgn thÀXncn¡p¶Xnt\¡mÄ 

{]bmkamWv AXnsâ ss]sdänknÂ \n¶pw thÀXncn¡m³ 
  (b)   Electrolytic reduction preferred over chemical reduction for the isolation of certain metals. 
   Nne teml§sf thÀXncn¡m³ sIan¡Â dnU£³t\¡mÄ \ÃXmWv CeIvt{SmfnänIv dnU£³. 
 (c) Copper matte is put in silica lined convertor. 
   tIm¸Àamäns\ knen¡ sIm−v BhcWw sN¿s¸« I¬hÀ«dnte¡mWv amäp¶Xv. 

15.  (a)   Suggest a method to concentrate the following ores: 
   Xmsg ]dbp¶ AbncpIsf km{µoIcn¡p¶ Hcp amÀ¤w \nÀt±in¡pI. 
      (i) ZnS  
   (ii) Al2O3.2H2O 
 (b)  What is the role of depressants in froth flotation process? 
  t{^m¯v v̂tfmt«j³ {]{InbbnÂ Un{]Ênsâ ]s¦´v? 
 (c)  What is the significance of leaching in extraction of aluminium? 
   Aepan\nb¯nsâ teml kwkvIcW¯nÂ eo¨nwKnsâ {]m[m\ysa´v? 



21 

 

16.  A house wife gave some of her gold ornaments to a person for polishing. The person became happy. He 
conducted some chemical reactions and retained the polished ornaments. 

  Hcp ho«½ Xsâ kzÀ®m`cW§Ä hr¯nbm¡p¶Xn\mbn Hcp hyànsb GÂ¸n¡p¶p.  CXnÂ 
kt´mjhm\mb hyàn Nne cmk{]hÀ¯\§Ä¡v tijw B`cWw sNbvXp \ÂIn. 

  (a) Name the solvent used by the person to dissolve gold and write the chemical equation? 
   kzÀ®w ebn¸n¡m³ AbmÄ D]tbmKn¨ emb\n GXv?  AXnsâ cmk{]hÀ¯\¯nsâ kahmIyw 

FgpXpI. 
  (b) How the person has recovered the dissolved gold and write the chemical equation? 
   AbmÄ F§s\bmWv ebn¨p tNÀ¶ kzÀWw XncnsI FSp¯Xv?  cmk{]hÀ¯\¯nsâ kahmIyw 

FgpXpI. 
  (c) Name the extraction process used here? 
   ChnsS D]tbmKn¨ teml \njvIÀjW amÀ¤taXv? 

 

4 Marks Questions 
 

17.  (a)  Given below are the names some ores, classify them as oxide and sulphide ores. 
   Xmsg X¶ncn¡p¶ AbncpIsf HmIvsskUv AbncpIÄ, kÀss^Uv AbncpIÄ F¶n§s\ Xcw 

Xncn¡pI. 
        (i)   Galena (ii)   Bauxite  (iii)   Hematite       (iv)  Cinnabar 
    Keo\  t_mIvsskäv  tlassääv  knW_mÀ 

(b) In the extraction of Al, impure Al2O3 is dissolved in conc. NaOH to form sodium aluminate and 
leaving impurities behind. What is the name of this process? 
Aepan\nb¯nsâ kwkvIcW thfbnÂ Aepan\nbw HmIvsskUv KmV tkmUnbw sslt{UmIv 
sskUnÂ ebn¨v amen\y§Ä ]pd´Åp¶p.  Cu {]{InbbpsS t]cv ]dbpI.  

       (c)  What is the function of limestone in the extraction of iron its oxide? 
   Ab¬ HmIvsskUnÂ \n¶pw Ab¬ thÀXncn¡p¶ {]{InbbnÂ ssewtÌmWnsâ ]s¦´v? 

18.  (a)  Outline the principle of refining of metals by the following methods. 
   Xmsg]dbp¶ teml kwkvIcW amÀ¤§Ä hnhcn¡pI. 

(i) Zone refining    (ii) Electrolytic refining 
 tkm¬ dnss^\nwKv    CeIvt{SmssfänIv dnss^\nwKv 
 (iii) Vapour phase refining 
 th¸À t^kv dnss^\nwKv  

 (b)   What is the role of dilute NaCN in the extraction of gold? 
  kzÀW kwkvIcW {]{InbbnÂ ssUeq«v kbt\änsâ ]s¦´v? 
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UNIT 7.   p  – BLOCK ELEMENTS 
 

1 Mark Questions 
 

1. What is the colour of the complex [Fe(H2O)5(NO)]2+? 
 [Fe(H2O)5(NO)]2+ F¶ tImw¹Ivknsâ \ndw F´mWv? 

2. The covalence of N in N2O5  is _______. 
 N2O5 Â ss\{SPsâ klkwtbmPIX F{X? 
3. Name the colourless gas with rotten fish smell, produced when water is added to Ca3P2. 
 ImÂkyw t^mkvss^UnÂ Pew tNÀ¡pt¼mÄ D−mIp¶, Noª aÕy¯nsâ KÔapÅ hmXI¯nsâ 

t]cv FgpXpI. 
4. A nation’s industrial strength can be judged by the quantity of _______ it produced and consumed. 
 Hcp cmPy¯nsâ hymhkmbnI iàn AXv DÂ¸mZn¸n¡pIbpw D]tbmKn¡pIbpw sN¿p¶_______sâ 

Afhv A\pkcn¨v \nÀ®bn¡mhp¶XmWv. 
5. Which statement is not correct about halogens? 
 lmsemP\pIsf kw_Ôn¨v sXämb {]kvXmh\ GXmWv? 
 (a)  All are coloured 
  ChsbÃmw \ndapÅh BWv.  
 (b)  All are gases  
  ChsbÃmw hmXI§fmWv. 
 (c)  All have seven valence electrons  
  Chbvs¡Ãmw _mlyXa sjÃnÂ Ggv CeIvt{SmWpIÄ D−v 
 (d)  Possess small atomic radii in their respective periods.  
  AXmXv ]ocnbUvIfnÂ hen¸w Ipdª Bä§Ä BWnh. 
 
 

2 Marks Questions 
 

 
6. Give reasons 
 ImcWw FgpXpI. 

(a)  Bond angle in PH4 
+ is higher than that in PH3. 

 PH4
+ se t_m−v BwKnÄ  PH3 teXnt\¡mÄ IpdhmWv. 

(b)  H3PO2 is reducing in behavior. 
 H3PO2 \ntcmIvkoIcW kz`mhapÅXmWv. 

7. What happens when white P is heated with NaOH in an inert atmosphere of CO2? Write the equation. 
 ImÀ_¬ UtbmIvsskUnsâ km¶n[y¯nÂ t^mkv^dkns\ tkmUnbw sslt{UmIvsskUpambn 

tNÀ¯v NqSm¡nbmÂ F´p kw`hn¡pw?  cmkkahmIyw FgpXpI. 
8. Write the increasing order of basicity of the following oxoacids. Give reason. 
 Xmsg X¶ncn¡p¶ BknUpIsf jmc KpW¯nsâ BtcmlW {Ia¯nÂ FgpXpI.  ImcWw hniZoIcn 

¡pI. 
 (H3PO2, H3PO3, H3PO4) 
9. What happens when 
 F´p kw`hn¡pw F¶v FgpXpI. 

(a) Concentrated H2SO4 is added to CaF2? 
ImÕyw v̂fqssdUnÂ KmV kÄ^yqdnIv BknUv tNÀ¡pt¼mÄ 

(b) SO3 is passed through water? 
Pe¯neqsS kÄ^À UtbmIvsskUv IS¯nhnSpt¼mÄ 

10. (a)  Fluorine is a stronger reducing agent than Chlorine. Why? 
  t¢mdnt\¡mÄ iàntbdnb \ntcmIvkoImcnbmWv ^vfqdn³. F´psIm−v? 
          (b)  Match the following: 
  tNcpw]Sn tNÀ¡pI. 
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(i) Indian saltpeter - PbS 
C´y³ kmÄ«v ]oäÀ 

(ii) Galena - Na3AlF6 
Keo\ 

(iii) Barite - KNO3 
_ssdäv 

(iv) Cryolite - BaSO4 
{Itbmsseäv 

11. Mention the conditions to maximize the yield of H2SO4 by contact process. 
 k¼À¡{]{InbbneqsS kÄ^yqdnIvBknUv \nÀ½n¡pt¼mÄ ]camh[n DÂ¸¶w e`yam¡m³ Bhiy 

amb kmlNcy§Ä kqNn¸n¡pI. 
 

3 Marks Questions 
 

12. Why does  
 F´psIms−¶v FgpXpI.  

(a)  N2 is inert at room temperature? 
 km[mcW DujvamhnÂ ss\{SP³ cmk{]hÀ¯\§fnÂ GÀs¸Sp¶nÃ. 
(b)  NO2 dimerise? 
 ss\{SP³ UtbmIvsskUv ssUassdkv sN¿p¶p. 
(c)  NH3 acts as a Lewis base? 
 AtamWnb eqbnkv t_kv Bbn hÀ¯n¡p¶p. 

13. Write balanced equations for the following. 
 Xmsg X¶ncn¡p¶hbpsS kaoIrX kahmIyw FgpXpI. 

(a)  NaCl is heated with H2SO4 in presence of MnO2 

 kÄ^yqcnIv BknUv MnO2 sâ km¶n[y¯nÂ NaCl ambn tNÀ¯v NqSm¡p¶p. 
(b)  Cl2 gas is passed into a solution of NaI in water. 
 NaI sS Peob emb\nbneqsS t¢mdn³ hmXIw IS¯nhnSp¶p. 
(c)  I2 is treated with concentrated HNO3. 
 KmV ss\{SnIv BknUpambn AtbmUn³ {]hÀ¯n¡p¶p. 

14. Give reason. 
 ImcWw FgpXpI. 

(a)  PCl5 fumes in moisture. 
 CuÀ¸¯nsâ km¶n[y¯nÂ PCl5 ]pIbp¶p. 
(b)  Solid PCl5 exhibits ionic character. 
 JcmhØbnÂ PCl5 AtbmWnI kz`mhw ImWn¡p¶p. 
(c)  Axial bonds in PCl5 are more elongated than the equatorial bonds. 
 PCl5 sâ BIvknbÂ t_m−pIÄ CIzntämdnbÂ t_m−pItf¡mÄ \ofapÅhbmWv. 

15. (a)  What inspired Bartlett to synthesise the xenone compounds. 
  skt\m¬ tIm¼u−pIÄ D−m¡m³ _mÀävseäns\ t{]cn¸n¨ kwKXn F´mWv? 
 (b)  Xenone  form some compounds with fluorine and oxygen. Why? 
  v̂fqdn³, HmIvknP³ F¶nhbpambn tNÀ¶v skt\m¬ Nne kwbpà§Ä D−m¡p¶p.  F´p 

sIm−v? 
 (c)  Draw the structures of XeO3 and XeOF4. 
  XeO3, XeOF4 F¶nhbpsS LS\ hcbv¡pI. 
16. (a)  Identify a gas among the following: ClF, BrF, IF, IF7 

  X¶ncn¡p¶hbnÂ hmXIw Xncn¨dnbpI: CIF, BrF, IF, IF7. 
 (b)  Inter halogen compounds are more reactive than halogens. Why? 
  lmsemP\pIsf¡mÄ cmk{]hÀ¯\tijn IqSnbhbmWv CâÀlmeP³tIm¼u−pIÄ.  F´p 

sIm−v? 
 (c)  Give one major use of Inter halogen compounds. 
  CâÀ lmeP³ tIm¼u−pIfpsS Hcp {][m\ D]tbmKw FgpXpI. 

 

4 Marks Questions 
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17. Catalytic oxidation of NH3 with Rhodium/Platinum gives a gas  X, which on further oxidation gives 
another gas  Y.  This on dissolution in water gives a compound Z.  
tdmUnbw AsÃ¦nÂ ¹män\w DÂt{]cI¯nsâ km¶n[y¯nÂ AtamWnb HmIvkoIcn¡pt¼mÄ  X  

F¶ hmXIw e`n¡p¶p.  CXns\ ho−pw HmIvkoIcn¨mÂ  Y  F¶ asämcp hmXIw D−mIpw.  CXv 

Pe¯nÂ ebn¡pt¼mÄ  Z  F¶ kwbpàw e`n¡p¶p. 
(a) Identify X, Y and Z. 
 X, Y, Z Ch Xncn¨dnbpI. 
(b) Name the process. 
 Cu {]{Inbbv¡v ]dbp¶ t]sc´v? 
(c) Write chemical equations involved. 
 CXnÂ AS§nbncn¡p¶ cmk kahmIy§Ä FgpXpI. 

18. (a)  Arrange the following in the increasing order of acidity. 
Xmsg X¶ncn¡¶hsb A¾XbpsS BtcmlW {Ia¯nÂ {IaoIcn¡pI. 
(i)  HClO, HClO2, HClO3, HClO4 
(ii)  HF, HCl, HBr, HI 

 (b)  Arrange the following in the increasing order of boiling point. 
  Xmsg X¶ncn¡p¶hsb Xnf\nebpsS BtcmlW {Ia¯nÂ {IaoIcn¡pI. 

           (NH3, PH3, AsH3 and BiH3) 
 (c)  Arrange the following  dihalogen in the increasing order of bond dissociation enthalpy. 
  Xmsg X¶ncn¡p¶ ssUlmsemP\pIsf t_m−v Untkmkntbj³ F\ÀPnbpsS BtcmlW 

{Ia¯nÂ {IaoIcn¡pI. 
               (F2, Cl2, Br2, I2) 
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UNIT 8.   d and f  – BLOCK ELEMENTS 
 

1 Mark Questions 
 

1.  Name a transition element which does not exhibit variable oxidation state. 
 hyXykvX HmIvkoIcWmhØ ImWn¡m¯ kw{IaW aqeI¯nsâ t]scgpXpI. 
2.  Name a member of the lanthanoid series which is well known to exhibit  + 4 oxidation state. 
 em³Yt\mbvUv t{iWnbnÂ + 4 HmIvkoIcWmhØ {]ISn¸n¡p¶ AwK¯nsâ t]scgpXpI. 
3.  Which of the following oxidation state is not shown by Manganese?   
 Xmsg X¶ncn¡p¶hbnÂ amwK\okv {]ISn¸n¡m¯ HmIvkoIcWmhØ GXv?  
 (a)  +1   (b)  +2     (c)  +4     (d)  +7 
4.  A well known alloy consists of a lanthanoid metal, iron and traces of S, C, Ca and Al is called_______ 
 Hcp em³Yt\mbnUv aqeIw, Ccp¼v, Ipd¨v kÄ^À, ImÀ_¬, ImÕyw, Aepan\nbw F¶nh AS§nb 

Adnbs¸Sp¶ Hcp temlk¦camWv _______ 
5.  The most common oxidation state of metals in the 3d series is _______ 
 3d kocoknse aqeI§fpsS km[mcW HmIvkoIcWmhØ _______ BWv. 

 
2 Marks Questions 

 

6.  What are transition elements? Why are they so called? 
 kw{IaW aqeI§Ä F¶mse v́?  F´psIm−v Ahsb C§s\ hnfn¡p¶p? 
7.   Which of the following is a transition element ? Why?  
        Zn or Ag. 
 Xmsg X¶ncn¡p¶hbnÂ kw{IaW aqeIw GXv?  F´psIm−v? 

      Zn AsÃ¦nÂ Ag.   
8.  Calculate the spin only magnetic moment of M 2+ ion (Z=27). 
 M 2+ AtbmWnsâ (Z=27) kv]n³ H¬en amáänIv samaâv IW¡m¡pI. 
9.  Predict which of the following will be coloured in aqueous solution ? Give reason for each. 
        Xmsg X¶ncn¡p¶hbnÂ, Peob emb\nbnÂ \ndapÅhsb Is−¯pI. Hmtcm¶n\pw ImcWw FgpXpI.  
     Cu +, Mn 2+, Ti 3+ and Co 2+. 
10.  Write any four characteristics of  transition metals.  
 kw{IaW aqeI§fpsS GsX¦nepw \mev khntijXIÄ FgpXpI. 
11.  (a)  Write any two uses of Potassium dichromate. 
  s]m«mkyw ssUt{Imamänsâ GsX¦nepw c−v D]tbmK§Ä FgpXpI. 
 (b)  Draw the structure of dichromate ion. 
  ssUt{Imtaäv AtbmWnsâ LS\ hcbv¡pI. 

3 Marks Questions 
 

12.  (a)  Explain the preparation of Potassium permanganate. 
   s]m«mkyw s]ÀamwKt\äv \nÀ½n¡p¶sX§s\sb¶v hniZoIcn¡pI. 
 (b)  Permanganate titrations in presence of Hydrochloric acid are unsatisfactory. Why? 
   sslt{Umt¢mdnIv BknUnsâ km¶n[y¯nÂ s]ÀamwKt\msa{Sn¡v ssSt{Sj\pIÄ \S¯p¶Xv 

Xr]vXnIcaÃ.  F´psIm−v? 
13.   (a)  Why is the highest oxidation state of a metal exhibited in its oxide or fluoride? 
   Hcp temlw AXnsâ ]camh[n HmIvkoIcWmhØ ImWn¡p¶Xv HmIvsskUpIfnepw v̂fqssdUp 

IfnepamWv.  F´psIm−v? 
 (b)  Which of the 3d series of elements exhibits the largest number of oxidation states. Why? 
   3d kocoknse GXv aqeIamWv Gähpw IqSpXÂ F®w HmIvkoIcWmhØIÄ ImWn¡p¶Xv?   

F´psIm−v? 
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14.  Give reasons. 
 ImcWw FgpXpI. 
 (a)  Zn, Cd and Hg are not regarded as transition metals. 
  Zn, Cd, Hg F¶nhsb kw{IaW aqeI§fmbn ]cnKWn¡p¶nÃ. 
 (b)  Transition elements exhibit variable oxidation states. 
   kw{IaW aqeI§Ä hyXykvX HmIvkoIcWmhØ ImWn¡p¶p. 
 (c)  In aqueous medium, Cu 2+ ion is more stable than Cu +. 
   Cu + t\¡mÄ Cu 2+ AtbmWpIÄ Pe¯nÂ ØncXbpÅhbmWv. 
15.  (a)  Why do transition metals exhibit catalytic property? 
   kw{IaW aqeI§Ä F´psIm−mWv DÂt{]cI kz`mhw ImWn¡p¶Xv? 
 (b)  Name any two industrial processes in which transition elements are used as catalyst. 
   kw{IaW aqeI§Ä DÂt{]cI§fmbn D]tbmKn¡p¶ c−v hymhkmbnI {]hÀ¯\§Ä 

FgpXpI. 
 (c)  Explain the catalytic action of Iron (III) in the reaction between Iodide and persulphate ions. 
   AsbmssUUpw s]ÀkÄt^äv AtbmWpIfpw X½nepÅ cmk{]hÀ¯\¯nÂ Ab¬ (III) 

DÂt{]cI¯nsâ kzm[o\w hniZoIcn¡pI. 
16.  What is meant by disproportionation of an oxidation state? Give an example. 
 Hcp HmIvkoIcWmhØbpsS Unkvs{]mt¸mÀjt\j³ F¶mse´v?  Hcp DZmlcWsagpXpI. 
 

4 Marks Questions 
 

17.  Compare the chemistry of actinoids with that of lanthanoids with special reference to (a) Electronic 
configuration  (b) oxidation state.   (c) atomic and ionic size and   (d) chemical reactivity. 

 (a) CeIvt{Sm¬ hn\ymkw  (b) HmIvkoIcWmhØ  (c) Bä¯nsâbpw AtbmWnsâbpw hen¸w  

       (d) cmk{]hÀ¯\ £aX F¶nh {]tXyIw D²cn¨psIm−v em³Yss\UpIfpsSbpw BIvSnss\UpIfp 
         sSbpw ckX{´w XmcXayw sN¿pI. 
18.  What is lanthanoid contraction? What is its cause ? What are its consequences? 
 em³Yss\Uv tIm¬{Sm£³ F¶mse´v? CXnsâ ImcWsa´v? CXnsâ A\´c ^e§Ä Fs´Ãmw? 
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UNIT 9.   COORNINATION COMPOUNDS 
 

1 Mark Questions 
 

1. The oxidation number of cobalt in [CoCl2(en)2]Cl is: 
 K[Co(CO)4] F¶ kwbpà¯nse tIm_mÄ«nsâ HmIvkoIcWmhØ: 
 (a)  +1 (b)  +3 (c)  –1 (d)  –3 
2.  How many ions are produced from the complex [Co(NH3)6]Cl2 in solution? 
 [Co(NH3)6]Cl2 F¶ kwbpàw Pe¯nÂ ebn¡pt¼mÄ F{X AtbmWpIsf Xcp¶p? 
3.  The series in which ligands are arranged in the order of increasing field strength is termed as_______ 
 enKm³UpIsf ^oÂUv kvs{SmMv¯nsâ BtcmlW {Ia¯nÂ {IaoIcn¨ncn¡p¶ t{iWnsb 

_______F¶v ]dbp¶p. 
4.  The compound used in the treatment of lead poisoning is _______  
       seUv hnj_m[s¡Xnsc D]tbmKn¡p¶ kwbpàw _______ BWv. 
 (a)  EDTA              (b) cis–platin            (c) desferrioxime B  (d) D–penicillamine. 
5.  Give example for a coordination compound of platinum that effectively inhibit the growth of tumours. 
 SyqadpIfpsS hfÀ¨sb \¶mbn {]Xntcm[n¡p¶ tImþHmÀUnt\j³ kwbpà¯n\v Hcp DZmlcWw 

FgpXpI.  

2 Marks Questions 
 

6.  Explain the following with suitable examples. 
 A\ptbmPyamb DZmlcW klnXw Xmsg X¶ncn¡p¶h hniZoIcn¡pI. 
 (a)  Ambidentate ligand   (b)  Chelating ligand 
  Bw_n sU³tUäv eoKm³Uv  InteänwKv enKm³Uv   
7.  Give the IUPAC names of the following: 
 Xmsg X¶ncn¡p¶hbpsS IUPAC \maw FgpXpI. 
 (a)  [Co(NH3)5Cl]Cl2   (b)  [CoCl2(en)2]Cl 

8.  Write the formula of the following: 
 Xmsg X¶ncn¡p¶hbpsS cmkkq{Xw FgpXpI. 

(a) Tetraamineaquachloridocobalt(III) chloride   

sS{SmAao³AIzmt¢mdntUmtIm_mÄ«v (III) t¢mssdUv 
(b) Potassium trioxalatoaluminate (III) 

s]m«mkywss{S HmIvktetämAepant\ä v(III) 
9.  Why is geometrical isomerism not possible in tetrahedral complexes having two different types of 

unidentate ligands coordinated with the central metal ion? 
 a[y¯nse temlhpambn c−v hyXykvX bpWnsU³tUäv eoKm³UpIÄ tImþHmÀUnt\äv sNbvXn«pÅ 

sS{Smssl{UÂ tImw¹IvkpIÄ tPymsa{Sn¡Â sFtkmsadnkw ImWn¡p¶nÃ.  F´psIm−v? 
10.  The square planar complex, [Ni(CN) 4 ]

2– is diamagnetic. Explain on the basis of VBT. 
 kvIzbÀ ¹\mÀ BIrXnbnepÅ [Ni(CN)4]

2- tImw¹Ivkv UbamsáänIv BWv.  VBT bpsS ASnØm\ 
¯nÂ hniZoIcn¡pI. 

11.  Name the metal present in the following:  
 Xmsg X¶ncn¡p¶hbnÂ AS§nbncn¡p¶ teml¯nsâ t]cv FgpXpI.  
 (a)  Haemoglobin   (b)   chlorophyll  
  lotamt¥m_n³  t¢mtdm^nÂ 

3 Marks Questions 

 

12. (a)  Explain homoleptic and heteroleptic complexes with examples.  
   tlmtamse]vänIv tImw¹IvkpIÄ, slätdmse]vänIv tImw¹IvkpIÄ F¶nh DZmlcW klnXw hnh--  
          cn¡pI. 
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 (b)  A complex of Cobalt, Vitamin B12 is also known as _______ 

   tIm_mÄ«nsâ Hcp tImw¹Ivkmb sshäan³ B12 s\ _______ F¶ t]cnepw Adnbs¸Sp¶p. 
13.  [NiCl4] is paramagnetic while [Ni(CO)4] is diamagnetic though both are tetrahedral. Why? 
       [NiCl4], [Ni(CO)4] F¶o c−p tImw¹IvkpIÄ sS{Smssl{UÂ BsW¦nepw [NiCl4] ]mcmamsáänIpw 

[Ni(CO)4] UbmamsáänIpw BWv. F´psIm−v? 
14.  Draw the structure of:   
 LS\ hcbv¡pI: 
 (a)  Hexacarbonyl chromium (0)      (b) Decacarbonyldimanganese (0)  
 (c)   Octacarbonyldicobalt (0) 
15.  Draw the geometrical isomers of [PtCl2(en)2]

2+.  Identify the optically active isomer among them. 
 [PtCl2(en)2]

2+ sâ tPymsa{Sn¡Â sFtkmsadpIÄ hcbv¡pI. AhbnÂ H]vSn¡Â BIvSohv sFtkmsaÀ 
Is−¯pI.  

16.  (a)  Draw figure to show the splitting of d - orbitals in an octahedral crystal field. 
   HIvämssl{UÂ {InÌÂ ^oÂUnse  d -  HmÀ_näepIfpsS kv¹nänwKv ]mtä¬ hcbv¡pI. 
 (b)  Identify the wrong statement / statements: 
   sXämb {]kvXmh\/{]kvXmh\IÄ Xncn¨dnbpI. 
 (i)  Ligands for which Δo < P are known as weak field ligands. They  form high spin complexes.  
   Δo < P Bbn«pÅ enKm³UpIsf ho¡v ^oÂUv enKm³UpIsf¶p hnfn¡p¶p.  Ah ssl 

kv]n³ tImw¹IvkpIÄ D−m¡p¶p.  
 (ii)  Ligands for which Δo > P, are known as strong field ligands. They form low spin complexes.  
   Δo > P Bbn«pÅ enKm³UpIsf kvt{SmMv ^oÂUv enKm³UpIsf¶p hnfn¡p¶p.  Ah tem 

kv]n³ tImw¹IvkpIÄ D−m¡p¶p.  
 (iii)  In tetrahedral coordination, low spin configurations are rarely observed. 
   tem kv]n³ sS{Smssl{UÂ tImþHmÀUnt\j³ A]qÀÆambn ImWm\mIq. 
 (iv)   Δt > Δo  

4 Marks Questions 

 

17.  (a)  Give evidence that [Co(NH3)5Cl]SO4 and [Co(NH3)5SO4]Cl are ionisation isomers. 
  [Co(NH3)5]Cl]SO4, [Co(NH3)5SO4]Cl F¶nh sFsWtkj³ sFtkmsadpIfmsW¶v sXfnhv 

klnXw hniZoIcn¡pI. 
 (b)  Identify the type of structural isomerism in the following pairs: 
  Xmsg X¶ncn¡p¶ tPmUnIfnse kv{SIv¨dÂ sFtkmsadnkw GXp Xcw BWv? 
 (i)  [Co(NH3)5(NO2)]Cl2 and [Co(NH3)5(ONO)]Cl2 

 (ii)  [Co(NH3)6][Cr(CN)6] and [Cr(NH3)6][Co(CN)6] 
 (iii)  [Cr(H2O)6]Cl3 and  [Cr(H2O)5Cl]Cl2.H2O 
18.  (a)  Explain the bonding in coordination compounds in terms of Werner’s postulates. 
  hÀWdpsS kn²m´a\pkcn¨v tImÀUnt\j³ kwbpà§fnse cmk_Ô\w hniZoIcn¡pI. 
 (b)  On the basis of the following observations made with aqueous solutions, assign secondary valences 

to metals in the following compounds: 
  Xmsg X¶ncn¡p¶ \nco£W§fpsS ASnØm\¯nÂ teml¯nsâ sk¡sâdn kwtbmPIX 

Is−¯pI. 
 

Formula 
t^mÀape 

Moles of AgCl precipitated per mole of 
the compounds with excess AgNO 3 

Bh--iy¯n\v AgNO3 ambn {]hÀ¯n v̈ 
kwbpà¯nsâ Hcp tamfnÂ \n¶pw  

D−mIp¶ AgCl sâ  tamfpIÄ  

(i)  NiCl2 .6 H 2O 2 

              (ii)  PtCl4 .2HCl 0 

             (iii)  CoCl3 .4 NH3 1 

 



UNIT 10.   HALOALKANES AND HALOARENES

1 Mark Questions
1. The poisonous gas produced when Chloroform is exposed to air i

t¢mtdmt^mw kqcy{]Imi¯nsâ km¶n[y¯nÂ hmbphntebv¡v Xpd¶p h¨mÂ D−mIp¶ 

hnjhmXIw  _______ BWv. 
(a) Carbon monoxide      
 ImÀ_¬ tamtWmIvsskUv 
(c) Phosphine     
 t^mk^o³ 

2. The Iodine containing hormone in our body, whose deficiency causes goiter is ______.
\½psS icoc¯nÂ ImWp¶ AbUn³ AS§nbncn¡p¶
ädn\v ImcWamIp¶p. 

3. Write the structure of 1 – bromo – 4 
1 – bromo – 4 – sec butyl methyl benzene 

4. _______ is the general name of a nucleophile like CN
group through two atoms. 
c−v hyXykvX Bä§Ä hgn BÂss¡

t]msebpÅ \yq¢ntbmss^epIÄ¡v s]mX
5. Dehydration of propan – 1– ol with c

Propan-1-ol s\ conc. H2SO4 D]tbmKn¨v 

(a) CH3CH2CH2I        (b) CH3CH(I)CH
 

2 
 

6. Write the IUPAC names of the following compounds:

Xmsg sImSp¯ncn¡p¶ kwbpà§fpsS
 
(a)                                                 (b)

 
 
 
 
 
7. Arrange CH3 – F, CH3 – I, CH3 – Cl and CH

length and (b) Bond enthalpy of Carbon 
CH3 – F, CH3 – I, CH3 – Cl, CH3 –

(b) ImÀ_¬þlmsemP³ t_m−v F´mÂ¸nbpsSbpw BtcmlW{Ia¯nÂ FgpXpI.
8. (a)  You are provided with 10 ml of Br

pent – 1 – ene from pentane? 
\n§Ä¡v 10 an.enäÀ CCl4 Â Br
thÀXncn¨dnbm³ \n§Ä¡v {]kvXpX emb

(b)  How will you prepare 1– bromo pentane and 2
 Pent – 1 – ene \nÂ \n¶pw 1– bromo pentane, 2

9. For the preparation of 1 – chlorobutane from 1
1-butanol Â \n¶pw 1-chlorobutane 

 (a) Action of HCl in presence of anhy.
  anhy. ZnCl2 sâ km¶n[y¯nÂ
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HALOALKANES AND HALOARENES

 

Mark Questions 

The poisonous gas produced when Chloroform is exposed to air in presence of sunlight is 
t¢mtdmt^mw kqcy{]Imi¯nsâ km¶n[y¯nÂ hmbphntebv¡v Xpd¶p h¨mÂ D−mIp¶ 

(b) Phosgene     
  t^mkvPo³ 

(d) Chlorine 
 t¢mdo³ 

ontaining hormone in our body, whose deficiency causes goiter is ______.
½psS icoc¯nÂ ImWp¶ AbUn³ AS§nbncn¡p¶ _______F¶ tlmÀtamWn

4 – sec butyl methyl benzene. 
thyl benzene sâ LS\ FgpXpI. 

_______ is the general name of a nucleophile like CN – which can bond to the carbon atom of an alkyl 

c−v hyXykvX Bä§Ä hgn BÂss¡Â {Kq¸nse ImÀ_Wpambn t_m−p sN¿m³ Ign

mss^epIÄ¡v s]mXpthbpÅ t]cmWv_______ 
ol with conc.H2SO4 and the addition of HI on the product gives
D]tbmKn v̈ \nÀPeoIcn¨ tijw HI tNÀ¯mÂ D−mIp¶ DÂ¸¶w.

CH(I)CH3       (c) CH2=CHCH2I        (d) CH≡CCH

2 Marks Questions 

Write the IUPAC names of the following compounds: 

Xmsg sImSp¯ncn¡p¶ kwbpà§fpsS IUPAC \ma§Ä FgpXpI. 

(b) 

Cl and CH3 – Br in the increasing order of (a) Carbon 
length and (b) Bond enthalpy of Carbon – Halogen bond enthalpy 

– Br F¶nhsb (a) ImÀ_¬þlmsemP³ t_m−v ssZÀLy¯nsâbpw

ImÀ_¬þlmsemP³ t_m−v F´mÂ¸nbpsSbpw BtcmlW{Ia¯nÂ FgpXpI.
ovided with 10 ml of Br2 in CCl4 solution. How can you use this solution to distinguish 

Br2 tNÀ¯ emb\n X¶ncn¡p¶p.  pent – 1 – ene, pentane 
n§Ä¡v {]kvXpX emb\n F§s\ D]tbmKn¡mw? 

bromo pentane and 2– bromo pentane from pent – 1 –
bromo pentane, 2– bromo pentane F¶nh F§s

chlorobutane from 1- butanol, the following methods can be used:
chlorobutane D−m¡m³ Xmsg¸dbp¶ amÀ¤§Ä D]tbmKn¡mw.

Action of HCl in presence of anhy. ZnCl2. 
sâ km¶n[y¯nÂ HCl ambpÅ {]hÀ¯\w  

HALOALKANES AND HALOARENES 

n presence of sunlight is _______ 
t¢mtdmt^mw kqcy{]Imi¯nsâ km¶n[y¯nÂ hmbphntebv¡v Xpd¶p h¨mÂ D−mIp¶ 

ontaining hormone in our body, whose deficiency causes goiter is ______. 
F¶ tlmÀtamWnsâ Ipdhv tKmbn 

arbon atom of an alkyl 

pambn t_m−p sN¿m³ Ignbp¶ CN – 

and the addition of HI on the product gives 
tNÀ¯mÂ D−mIp¶ DÂ¸¶w. - -- 

≡CCH2I 

g order of (a) Carbon – Halogen bond 

ImÀ_¬þlmsemP³ t_m−v ssZÀLy¯nsâbpw 

ImÀ_¬þlmsemP³ t_m−v F´mÂ¸nbpsSbpw BtcmlW{Ia¯nÂ FgpXpI. 
solution. How can you use this solution to distinguish 

ene, pentane F¶nhsb 

– ene? 
F¶nh F§s\ D−m¡mw 

butanol, the following methods can be used: 
D−m¡m³ Xmsg¸dbp¶ amÀ¤§Ä D]tbmKn¡mw. 
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(b)  Action of PCl3 
 PCl3 -bpamÅ {]hÀ¯\w 
(c)  Action of PCl5 
 PCl5 - hpambpÅ {]hÀ¯\w 
(d)  Action of SOCl2 

  SOCl2 ambpÅ {]hÀ¯\w 
 Which among these methods is the best? Why? 
 ChbnÂ Gähpw \Ã amÀ¤w GXv?  F´psIm−v? 
10. A compound ‘A’ when treated with nitrous acid and hydrochloric acid under cold conditions gave the 

compound ‘B’.When ‘B’ was treated with Cu2Cl2 and HCl, chlorobenzene was formed. Identify A and B. 
'A' F¶ kwbpàs¯ XWp¯ ]cnXØnXnbnÂ ss\{Skv BknUpw sslt{Um t¢mdnIv BknUpambn 

{]hÀ¯n¨t¸mÄ 'B' F¶ kwbpàw In«n.  'B' sb Cu2Cl2, HCl F¶nhbpambn {]hÀ¯n¸n¨t¸mÄ 

t¢mtdms_³ko³ In«n.  A, B F¶nhsb Is−¯pI. 
11. Which among the following molecules are optically active? 

Xmsg]dªncn¡p¶ X·m{XIfnÂ "H]vSn¡en BIvSohv' Bbh GsXms¡? 

 

 

 

 

 
 
 
 

3 Marks Questions 
 
12. Identify the products of the following reactions: 
 XmsgsImSp¯ncn¡p¶ {]hÀ¯\§fpsS DÂ¸¶§Ä Is−¯pI. 

  CH3 – CH2 – CH2 – CH2 – Br 
���� 

����� 

  CH3 – CH2 – CH2 – CH2 – Br 
����!"#
������ 

  CH3 – CH2 – CH(Br) – CH3

����!"#
������ 

13.  (a)  Write the possible products formed when a mixture of 1–chloropropane and 1-chlorobutane reacts 
with metallic sodium in dry ether. Name this reaction. 

  1–chloropropane, 1-chlorobutane F¶nhbpsS an{inXs¯ DW§nb CuYdnÂ ebn¸n¨ 
tkmUnbhpambn {]hÀ¯n¸n¨mÂ D−mIp¶ km[yamb DÂ¸¶§tfh?  Cu {]hÀ¯\¯nsâ 
t]sc´v? 

       (b)  C6H5 – Br   
�$ %& �'( )�*)'
�����������  B.  Identify B and name this reaction. 

  C6H5 – Br   
�$ %& �'( )�*)'
�����������  B.  B Is−¯pI.  Cu {]hÀ¯\¯nsâ t]scgpXpI. 

14.   (a)  Arrange the following compounds in the increasing order of their boiling points: 
  Xmsg sImSp¯ncn¡p¶ kwbpà§sf AhbpsS Xnf\nebpsS BtcmlW {Ia¯nÂ FgpXpI. 

(i)  CH3 – CH2 – Cl, CH3 – CH2 – I, CH3 – CH2 – F, CH3 – CH2 – Br 
(ii)  1- bromo butane, 2 – bromo butane, 2 – bromo – 2 – methyl propane 

 (b)  Para dichlorobenzene has a higher boiling point than ortho dichlorobenzene. Why? 
 ]mcm ssU t¢mtdm s_³ko\nsâ Xnf\ne ssUt¢mtdms_³ko\nt\¡mÄ IqSpXemWv.  F´p 

sIm−v? 
15.   Convert the following. 
 Xmsg]dbp¶ {]hÀ¯\§Ä FgpXpI. 

(i)  1 – chloropropane to 1 – iodopropane 
(ii)  1 – chloropropane to 1 –fluoropropane 
(iii) Aniline to iodobenzene 
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16.  Benzene reacts with Chlorine in presence of Ferric chloride to substitute one hydrogen atom by chlorine 
atom. 

 s^dnIv t¢mssdUnsâ km¶n[y¯nÂ s_³ko³ t¢mdn\pambn {]hÀ¯n¡pt¼mÄ AXnsâ Hcp 
ssl{UP³ t¢mdn\mÂ amäs¸Spw. 
(a) Name the type of substitution reaction involved. 

ChnsS \S¡p¶ k_vÌnÌyqj³ {]hÀ¯\w GXv Xc¯nepÅXmWv? 
(b) What happens when the above product is treated with Chlorine in presence of ferric chloride? Give 

equation. 
apIfnÂ ]dª DÂ¸¶s¯ s^dnIv t¢mssdUnsâ km¶n[y¯nÂ t¢mdn\pambn {]hÀ¯n¸n¨mÂ 
G´p kw`hn¡pw?  cmkkahmIyw FgpXpI. 
 

4 Marks Questions 

 
17.  Given three haloalkanes: 
 aq¶v lmtem BÂs¡bv\pIÄ X¶ncn¡p¶p. 
       1 – bromo hexane, 3 – bromo – 3 – methyl pentane, 3 – bromo hexane 
       (a)  Identify the one which reacts with OH- to give alcohol by 
  ChbnÂ OH- ambn {]hÀ¯n¨v BÂ¡tlmÄ  

(i)  S�
�   mechanism 

  S�
�   sa¡m\nkw 

(ii) S�
�   mechanism 

         S�
�   sa¡m\nkw  

        (iii)  both S�
�   and  S�

�   mechanisms 
 S�

� , S�
�   sa¡m\nkw Ch c−pw 

 (b)  Which among them gives a stable carbocation? 
  ChbnÂ GXnemWv ØncXbpÅ Hcp ImÀt_m Iymätbm¬ D−m¡p¶Xv? 
       (c)  The hydrolysis of 3–bromo–3–methyl hexane to form 3 – methyl hexan – 3 – ol results in the 

formation of a reacemic mixture of 3 – methyl hexan – 3 – ol. Write the mechanism of this reaction. 
     3–bromo–3–methyl hexane Pe hntÇjWw \S¯n 3–methyl hexan–3–ol D−m¡nbt¸mÄ 3 – 

methyl hexan–3–ol sâ Hcp sdkvanIv an{inXw D−mbn.  Cu {]hÀ¯\¯nsâ sa¡m\nkw 
FgpXpI. 

 
18.  (a)  The substitution of –Cl by –OH in C6H5–Cl takes place at very high temperature and pressure. Give 

reasons. 
  C6H5–Cl se –Cl s\ amän  –OH hbv¡p¶Xv hfsc IqSnb Dujvamhnepw aÀ±¯nepw \S¡p¶p.  

ImcW§sfgpXpI. 
       (b)   When chlorobenzene is nitrated using nitrating mixture, 1 – chloro – 2 – nitro benzene and 1 – chloro 

– 4 – nitro benzene are formed. Why does the substitution take place at ortho and para positions? 
         t¢mtdm s_³kos\ ss\t{SänwKv an{inXw D]tbmKn v̈ ss\t{Säv sNbvXt¸mÄ        1-chloro–2–nitro 

benzene, 1–chloro–4–nitro benzene F¶nh In«n.  F´psIm−mWv k_vÌnäyqj³ HmÀt¯m, ]mcm 
Øm\§fnÂ \S¡p¶Xv? 
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UNIT 11.   ALCOHOLS, PHENOLS AND ETHERS  

 

1 Mark Questions 

1. Which of the following has the highest boiling point? 
Xmsg ]dbp¶hbnÂ Xnf\ne Gähpw IqSnbXv GXn\v? 
(b) CH3OCH3     (b)    CH3CH2Cl   (c)    CH3CH2OH     (d)   CH3CHO  

2. The process of making commercial ethanol unfit for drinking by adding pyridine is called ______. 
hmWnPymhiy¯n\mbn D]tbmKn¡p¶ FYt\mfnÂ ]ncnUn³ IeÀ¯n AXns\ IpSn¡m³ ]äm¯ 

Xc¯nem¡p¶ {]{Inbsb _______F¶p ]dbp¶p. 
3. When a piece of metallic sodium is added to 1 – butanol, an effervescence is seen. Write the equation of 

this chemical reaction. 
Hcp IjWw tkmUnbs¯ 1-butanol Â C«mÂ IpanfIÄ D−mIp¶XpImWmw.  Cu {]hÀ¯\¯nsâ 
cmkkahmIyw FgpXpI. 

4. Give the structure of 3, 5 – dimethyl hexane - 1, 3, 5 triol. 
3,5-dimethyl hexane-1,3,5 triol sâ LS\ FgpXpI. 

5. The catalytic hydrogenation of Carbon monoxide under high temperature and pressure in presence of 
Cr2O3 – ZnO catalyst gives 
ImÀ_¬ tamtWmIvsskUns\ IqSnb Dujvamhnepw aÀ±¯nepw Cr2O3 - ZnO DÂt{]cI¯nsâ km¶n 
[y¯nÂ ssl{UPt\äv sNbvXmÂ In«p¶ DÂ¸¶w. 

(a) CH4 (b) CH3OH (c)  CH2O (d)   C2H5OH 
 

2 Marks Questions 

6. When an aldehyde ‘A’ was reduced by Hydrogen in presence of Nickel, 1 – butanol was formed. The 
same alcohol was formed when a carboxylic acid ‘B’ wasa reduced by Lithium Aluminium hydride. 
Identify A and B. 
‘A’ F¶ BÂUnsslUns\ \n¡ensâ km¶n[y¯nÂ ssl{UP³ D]tbmKn¨p 

\ntcmIvkoIcn¨t¸mÄ 1-butanol In«n.  'B' F¶ ImÀt_mIvknen¡v BknUns\ enYnbw Aepan\nbw 

sslss{UUv D]tbmKn¨v \ntcmIvkoIcn¨t¸mgpw CtX BÂ¡tlmÄ Xs¶ In«n.  A, B F¶nh 
Is−¯pI. 

7. (a)  When ethanol is added to ethanoic acid along with a little Concentrated sulphuric acid, boiled and 
diluted, a fruity smell occurs. Write the reaction taking place here. 
FYt\mÄ FYt\mbnIvBknUpambn AÂ]w kÄ^yqdnIv BknUv tNÀ¯v Xnf¸n¨tijw  
t\À¸n¨t¸mÄ ]g§fptSXpt]mepÅ Hcp KÔw D−mIp¶p.  ChnsS \S¡p¶ {]hÀ¯\w 
FgpXpI. 

 (b)  How is aspirin prepared by the above type of reaction?  
  {]kvXpX Xc¯nepÅ {]hÀ¯\w hgn Bkv]ncn³ F§s\ D−m¡mw? 
8. Give a chemical test to distinguish the following pairs of compounds: 
 Xmsg X¶ncn¡p¶ kwbpà tPmUnIÄ X½nÂ thÀXncn¨dnbm\pÅ cmk]cntim[\ FgpXpI. 

(a) Butan – 1 – ol and phenol 
(b) n – butyl alcohol and tertiary butyl alcohol 

9. Give the structures of X and Y: 
 X, Y F¶nhbpsS LS\ FgpXpI. 

    CH3 – CH2 – CH2 – CH2 – OH 
�,&..�/01 / 11��
�������������� X 

    CH3 – CH2 – CH2 – CH2 – OH 
�,&..�/01 / 1���
�������������� Y 

10. When anisole is brominated using Bromine in ethanoic acid, orthobromo anisole and para bromo anisole 
are formed. Why does the substitution take place at ortho and para positions? 
A\ntkmfns\ Bromine in ethanoic acid D]tbmKn¨v t{_mant\äv sNbvXt¸mÄ HmÀt¯m t{_mtam 
A\ntkmÄ, ]mcmt{_mtam A\ntkmÄ F¶nh In«n.  F´psIm−mWv k_vÌnäyqj³ HmÀt¯mþ]mcm 
Øm\§fnÂ \S¡p¶Xv? 



11. Identify A, B, C and D 
 A, B, C, D F¶nh  Is−¯pI. 

 C6H5OH 
�$0.
����   A  

CH3I
����   B   

.7
→   C

 

3 Marks Questions
 
12.  (a)  Write the functional group isomers of C

 C4H10O bpsS ^MvjWÂ {Kq v̧ sFtkmadpIÄ Fgp
 (b)  Give one primary, one secondary and one tertiary isomer of the alcohol C

chemical method to distinguish between the three.
  C4H10O F¶ BÂ¡tlmfnsâ Hcp ss{]adn, Hcp sk¡â

FgpXpI.  Ahsb X½nÂ thÀXncn¨dn
13. Identify X, Y and Z. 

X, Y, Z F¶nh Is−¯pI. 

 CH3 – CH = CH2    

 �8.9
����   X   

$:; .8
�����

14. Aldehydes and ketones react with Grignard reagent to give an addition product. This addition produ
hydrolysis give an alcohol. Use this reaction to prepare the compounds given below.
BÂUnsslUpIfpw IotämWpIfpw {KnámÀUv dotbPâpambn {]hÀ¯n¨v Hcp AUnj³ kwbpàw 
D−m¡p¶p.  Cu AUnj³ kwbpàs¯ PehntÇjWw sN¿pt¼mÄ Hcp BÂ¡tlmÄ In«pw.  Cu 
{]hÀ¯\w D]tbmKn v̈ Xmsg]dbp¶ BÂ¡tlmfpIÄ D−m¡pI.
(a) Propan – 1- ol (b)  pentan 

15. Alcohol 1    
�< $� ����
��������   3 – hexanone

 Alcohol 2    
�< $� ����
��������   butanal 

 Alcohol 3    
�< $� ����
��������   2 – methyl 

 Give the structures of Alcohol 1, Alcohol 2 and Alcohol 3.
 BÂ¡tlmÄ 1, BÂ¡tlmÄ 2,  
16. (a)  Write the two products formed when phenol is nitrated using dilute nitric acid. How are these two 

products separated? 
^nt\mfns\ t\À¸n¨ ss\{SnIv BknUv D]tbmKn v̈ ss
DÂ¸¶§Ä FgpXpI. Cu c−v 

(b) How is picric acid prepared? 
 ]n{InIv BknUv D−m¡p¶sX§s
 

4 Marks Questions
17.  (a)  What happens when a blue litmus paper is dipped in

(i) Ethanol 
(ii) Phenol 
\oe \nd¯nepÅ enävakv t]¸dns
kw`hn¡pw? 

 (b)  Give reasons for your answer 
    \n§fpsS D¯c¯n\pÅ ImcW§Ä FgpXpI.

18. (a)  Identify A and B. 
 A, B F¶nh Is−¯pI. 

   
 
 

(b)  What happens when phenol is treated with Chloroform and sodium hydroxide? Give 
 ^nt\mfns\ t¢mtdmt^mapw tkmUnbw sslt{UmIvsskUpambn {]hÀ¯n¸n¨mÂ F´p 

kw`hn¡pw?  cmkkahmIyw FgpXpI.
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C   +  D 

Marks Questions 

Write the functional group isomers of C4H10O.  
bpsS ^MvjWÂ {Kq¸v sFtkmadpIÄ FgpXpI. 

Give one primary, one secondary and one tertiary isomer of the alcohol C4

chemical method to distinguish between the three. 
BÂ¡tlmfnsâ Hcp ss{]adn, Hcp sk¡âdn, Hcp sSdnjydn sFtkmadpIÄ 

FgpXpI.  Ahsb X½nÂ thÀXncn¨dnbm\pÅ Hcp cmk]cntim[\ hniZam¡pI.

808
���    Y   

��:=
���   Z 

Aldehydes and ketones react with Grignard reagent to give an addition product. This addition produ
hydrolysis give an alcohol. Use this reaction to prepare the compounds given below.
BÂUnsslUpIfpw IotämWpIfpw {KnámÀUv dotbPâpambn {]hÀ¯n¨v Hcp AUnj³ kwbpàw 
D−m¡p¶p.  Cu AUnj³ kwbpàs¯ PehntÇjWw sN¿pt¼mÄ Hcp BÂ¡tlmÄ In«pw.  Cu 

bp¶ BÂ¡tlmfpIÄ D−m¡pI. 
pentan – 3 – ol (c)  2 – methyl propan – 2 – ol

hexanone 

methyl – 1 – propene 
ohol 1, Alcohol 2 and Alcohol 3. 

 BÂ¡tlmÄ 3 F¶nhbpsS LS\ FgpXpI. 
Write the two products formed when phenol is nitrated using dilute nitric acid. How are these two 

{SnIv BknUv D]tbmKn v̈ ss\t{Säv sN¿pt¼mÄ D−mIp¶ c−v 
Cu c−v DÂ¸¶§sf thÀXncn¡p¶sX§s\? 

]n{InIv BknUv D−m¡p¶sX§s\? 

4 Marks Questions 

What happens when a blue litmus paper is dipped in 

nd¯nepÅ enävakv t]¸dns\ FYt\mÄ, ^ot\mÄ F¶nhbnÂ shtÆsd ap¡nbmÂ F´p 

 
pÅ ImcW§Ä FgpXpI. 

What happens when phenol is treated with Chloroform and sodium hydroxide? Give 
t¢mtdmt^mapw tkmUnbw sslt{UmIvsskUpambn {]hÀ¯n¸n¨mÂ F´p 

kw`hn¡pw?  cmkkahmIyw FgpXpI. 

4H10O and explain one 

dn, Hcp sSdnjydn sFtkmadpIÄ 
hniZam¡pI. 

Aldehydes and ketones react with Grignard reagent to give an addition product. This addition product on 
hydrolysis give an alcohol. Use this reaction to prepare the compounds given below. 
BÂUnsslUpIfpw IotämWpIfpw {KnámÀUv dotbPâpambn {]hÀ¯n¨v Hcp AUnj³ kwbpàw 
D−m¡p¶p.  Cu AUnj³ kwbpàs¯ PehntÇjWw sN¿pt¼mÄ Hcp BÂ¡tlmÄ In«pw.  Cu 

ol 

 
Write the two products formed when phenol is nitrated using dilute nitric acid. How are these two 

t{Säv sN¿pt¼mÄ D−mIp¶ c−v 

mÄ F¶nhbnÂ shtÆsd ap¡nbmÂ F´p 

What happens when phenol is treated with Chloroform and sodium hydroxide? Give equation. 
t¢mtdmt^mapw tkmUnbw sslt{UmIvsskUpambn {]hÀ¯n¸n¨mÂ F´p 
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UNIT 12.   ALDEHYDES, KETONES AND CARBOXYLIC ACIDS 

 

1 Mark Questions 

1. The aldehyde used to preserve biological specimens is _______ 
ssPh amXrIIÄ kwc£n¡m³ D]tbmKn¡p¶ BÂUnsslUmWv _______ 

2. Write the IUPAC name of the following compound: 
Xmsg X¶ncn¡p¶ kwbpà¯nsâ IUPAC \maw FgpXpI. 

  
 
 
 
   
3. Write the structure of  2, 4 – dimethyl pentan – 3 – one. 

2, 4 – dimethyl pentan – 3 – one sâ LS\ FgpXpI. 
4. The reaction in which the carbon – carbon bond formation occur with  

ImÀ_¬þImÀ_¬ t_m−v D−mIp¶ {]hÀ¯\amWv 
(a) Clemmenson’s reduction    (b)  Aldol condensation  
(c)  HVZ reaction     (d)  Wolff Kishner reduction 

5. Identify the carboxylic acid which cannot give HVZ reaction. 
HVZ {]hÀ¯\w \S¡m¯ ImÀt_mIvknenIv BknUv Is−¯pI. 
(a) CH3COOH        (b) CH3CH2COOH       (c) CH3CH(CH3)CH2COOH  (d)  HCOOH 
 

2 Marks Questions 

 
6.  (a)  Write the product obtained when benzoyl chloride is reduced with H2 in presence of       Palladium and 

Barium sulphate. 
s_³tkmbnÂ t¢mssdUns\ ssl{UP³ D]tbmKn¨v ]teUnbw, t_cnbw kÄt^äv F¶nhbpsS 
km¶n[y¯nÂ \ntcmIvknIcn¨mÂ In«p¶DÂ¸¶w F´v? 

 (b) What is the role of Barium sulphate in the above reaction? 
  apIfnÂ kqNn¸n¨ cmk{]hÀ¯\¯nÂ t_cnbw kÄt^änsâ Øm\w F´v? 
7. Both propanal and propanone reacts with HCN to give cyanohydrins. Which among them is more reactive 

towards HCN? Give reasons. 
s{]m¸\mepw s{]m¸t\mWpw HCN ambn {]hÀ¯n¨v kbt\mssl{Un\pIÄ D−m¡pw.  AhbnÂ HCN 
ambn Ffp¸¯nÂ {]hÀ¯n¡p¶Xv GXv?  ImcW§sfgpXpI. 

8. An alkene A on ozonolysis gave propanal and 2 – pentanone. Identify A. Write equation for the reaction. 
‘A’ F¶ BÂ¡os\ HmktWmfnknkv sNbvXt¸mÄ propanal, 2-pentanone F¶nh In«n. ‘A' 
Is−¯pI.  Cu {]hÀ¯\¯nsâ cmkkahmIyw FgpXpI. 

9. Identify the products of the following reactions: 
Xmsg sImSp¯ncn¡p¶ {]hÀ¯\§fpsS DÂ¸¶§Ä Is−¯pI. 

(i)  CH3CH2CH2OH      
.> / ���'�0�
����������� 

(ii)  CH3 – CH = CH – CH2 OH     
PCC
��� 

10. (a)  A compound C4H8O has two functional group isomers X and Y. Give the structures of X and Y. 
C4H8O F¶ kwbpà¯n\v X, Y F¶o ^wKvjWÂ {Kq¸v sFtkmadpIÄ D−.v  X, Y F¶nhbpsS 
LS\ FgpXpI. 

 (b)  Write one test to distinguish between X and Y. 
  X, Y F¶nhsb thÀXncn¨dnbm\pÅ Hcp ]co£Ww FgpXpI. 
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11. Among the compounds given below, pick out those which give positive haloform reaction. 
Xmsg sImSp¯ncn¡p¶ kwbpà§fnÂ \n¶pw lmsemt^mw {]hÀ¯\w In«p¶hsb 
sXcsªSp¡pI. 

 CH3OH CH3CH2OH CH3CH2CH2OH HCHO 
 CH3CHO CH3CH2CH(OH)CH3 CH3CH2CH2COCH2CH3 C6H5COCH3 

 

3 Marks Questions 

 

12. An aldehyde ‘A’ is treated with dilute sodium  hydroxide to form a compound ‘B’ called 3 – hydroxy – 2 – 
methyl pentanal. 

       ‘A’ F¶ BÂUnsslUv t\À¸n¨ tkmUnbw sslt{UmIvsskUpambn {]hÀ¯n¨t¸mÄ ‘B’ F¶ 

 3-hydroxy-2-methyl pentanal In«n. 
       (a)  Identify A 
   ‘A’ Fs´¶v Is−¯pI. 
       (b)  Write the name of the above reaction. 
   {]kvXpX {]hÀ¯\¯nsâ t]scgpXpI. 
       (c)  Write the product formed when B is heated. 
   ‘B’ sb NqSm¡nbmÂ In«p¶ DÂ¸¶w FgpXpI. 
13.  (a)  Write the position isomers of a ketone having molecular formula C5H10O. 
   C5H10O F¶ X·m{Xmkq{XhmIyw DÅ IotämWnsâ sFtkmadpIÄ FgpXpI. 
 (b)  How can you distinguish between these two position isomers? 
   Cu c−p s]mknj³ sFtkmadpIsf X½nÂ thÀXncn¨dnbp¶sX§s\? 
14.  Give the products of the following. 
 Xmsg X¶ncn¡p¶hbpsS DÂ¸¶§Ä FgpXpI. 

(a)  Reduction of butanal with Lithium Aluminium hydride 
 _yq«\mensâ enYnbw Aepan\nbw sslss{UUv apJm´capÅ \ntcmIvkoIcWw. 
(b)  Reduction of butanal with Zinc – amalgam and Concentrated HCl 
 kn¦v AamÂKw, KmV sslt{Umt¢mdnIv BknUv F¶nh D]tbmKn¨v _yq«\mensâ \ntcm 

IvkoIcWw. 
(c)  Reduction of propanone with Hydrogen in presence of Nickel. 
 \n¡ensâ km¶n[y¯nÂ s{]m¸t\mWnsâ \ntcmIvkoIcWw 

15. Give the products formed when the following compounds are treated with NaOH solution: 
 Xmsg ]dbp¶ kwbpà§sf NaOH emb\nbpambn {]hÀ¯n¸n¨mÂ In«p¶ DÂ¸¶§Ä FgpXpI.  
 (a) CH2O 
 (b) C6H5-CHO 
 (c) C6H5-COOH 
16.  When butanoic acid is treated with metallic sodium, effervescence occurs. 
 _yq«t\mbnIv BknUv tkmUnbhpambn {]hÀ¯n¡pt¼mÄ IpanfIÄ D−mIp¶p. 

(a) Write the equation for the reaction. 
apIfnÂ kqNn¸n¨ {]hÀ¯\¯nsâ cmkkahmIyw FgpXpI. 

(b) What happens when the product obtained in the above reaction is electrolysed? 
apIfnÂ kqNn¸n¨ {]hÀ¯\¯nse DÂ¸¶s¯ sshZyqX hntÇjWw sNbvXmÂ F´p kw` 
hn¡pw? 

(c) Name the above electrolysis. 
Cu sshZypX hntÇjW¯nsâ t]scgpXpI. 

 

4 Marks Questions 

 
17.  (a)  Butanoic acid reacts with ammonia to give ‘A’ which on heating gives ‘B’. ‘B’ on treatment with 

Bromine and alkali give ‘C’. The same ‘B’ on reduction with sodium in ethanol gives ‘D’. Identify 
‘A’, ‘B’, ‘C’ and ‘D’.  
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  _yq«t\mbnIv BknUv AtamWnbbpambn {]hÀ¯n¨mÂ 'A' In«pw.  A NqSm¡nbmÂ 'B' In«pw.  'B' sb 

t{_man³, BÂ¡en F¶nhbpambn {]hÀ¯n¨mÂ 'C' In«pw.  'B' sodium in ethanol D]tbmKn¨v 

\ntcmIvkoIcn¨mÂ 'D' In«pw.  'A', 'B', 'C', 'D' F¶nh Is−¯pI. 
 (b)  Give any two chemical tests to distinguish between phenol and ethanoic acid. 
  ^nt\mfpw FYt\mbnIv BknUpw X½nÂ thÀXncn¨dnbm\pÅ c−v cmk]cntim[\IÄ FgpXpI. 
18.  (a)   How can you prepare butanoic acid using a suitable Grignard reagent? 
  A\ptbmPyamb {KnKvkÀUv dnsbPâv D]tbmKn v̈ F§s\ _yq«t\mbnIv BknUv D−m¡mw? 
 (b)  Convert propanoic acid to (i) ethane and (ii) propane. 
  s{]¸t\mbnIv BknUns\ (i) ethanae, (ii) propane F¶nhbm¡n amäpI. 
 (c) Arrange the following carboxylic acids in the increasing order of  pka  values: 
  Xmsg ]dbp¶ ImÀt_mIvknenIv BknUpIsf  pka  hneIfpsS BtcmlW {Ia¯nÂ FgpXpI. 
  CH3COOH, F – CH2COOH, HCOOH, Cl– CH2COOH 
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UNIT 13.   AMINES 

 

1 Mark Questions 

1. The product of hydrolysis of benzonitrile is_______ 
s_³tkm ss\{Sensâ Pe hntÇjW DÂ¸¶w _______ 
(c) Benzyl amine      (b)    Benzyl alcohol   (c)    Benzoic acid     (d)   Aniline 

2. In IUPAC, isocyanides are called ______ 
IUPAC Â sFtkmkbss\UpIsf _______ F¶p hnfn¡p¶p. 

3. ______ is a synthetic amino compound used as an anaestheic in dentistry. 
]ÃpNnInÕbnÂ A\kvsXänIv Bbn D]tbmKn¡p¶ Hcp Ir{Xna Aant\m kwbpàamWv _______ 

4. The IUPAC name of NH2 – (CH2)6 – NH2 is ________ 
NH2-(CH2)6-NH2 sâ IUPAC \maamWv _______ 

5. An antihistamine that contains tertiary amino group is _______ 
sSdnjydn Aant\m {Kq¸v AS§nbncn¡p¶ Hcp BânlnÌao³ BWv_______ 
 

2 Marks Questions 

 
6. Write the structures of the compounds having the following IUPAC names: 

Xmsg ]dbp¶ IUPAC \ma§fpÅ kwbpà§fpsS LS\ FgpXpI. 
 (a)  4 – amino toluene (b)  2 - propanamine 
7. (a)  Why are amines basic? 

 Aao\pIÄ t_knIv BbXv F´psIm−v? 
(b) The basic character of the following amines in the gaseous phase follows the order       
        (CH3)3N >(CH3)2NH> CH3NH2.  Is the order same in aqueous solution? Why? 
 hmXI cq]¯nÂ Aao\pIfpsS t_knIv kz`mhw (CH3)3N >(CH3)2NH> CH3NH2 F¶ {Ia¯nemWv.  

Peob emb\nbnepw {Iaw CXp Xs¶bmtWm?  F´psIm−v? 
8. (a)  The value of pkb  of aniline is greater than that of ammonia. Why? 

  A\nensâ pkb hne AtamWnbsb¡mÄ IqSpXemWv.  F´psIm−v?  
(b)  Compare the pkb  values of 4 – nitro aniline and 4 – methyl aniline with that of aniline. 
 4-nitro aniline, 4-methyl aniline F¶nhbpsS pkb hne A\neo\pambn XmcXayw sN¿pI. 

9. Give the structures of A, B, C and D. 
A, B, C, D F¶nhbpsS LS\ FgpXpI. 

 C6H5NO2   
/& / .�:
������     A     

.�0� > .�: $� :,@ �)AB)'$�<') 
�������������������������     B    

.�0 / C 
������     C     

D& / C
����    D  

10. Suggest a route to prepare n – propyl amine by Gabriel’s phthalimide synthesis. 
K{_ntbÂkv XmenssaUv kn´knkv hgn  n-propyl amine D−m¡p¶ amÀ¤w \nÀt±in¡pI. 

11. (a)  Even though –NH2 group is ortho – para directing, meta nitro aniline is also obtained in comparatively 
high amounts during the nitration of aniline using nitrating mixture.  Why? 
–NH2 {Kq¸v HmÀt¯mþ]mcm UbdIvSnwKv BsW¦nepw A\nens\ ss\t{SänwKv an{inXw D]tbmKn¨v 
ss\t{Säv sN¿pt¼mÄ XmcXtay\ IqSpXÂ tXmXnÂ saämss\t{Sm A\nen³ In«pw.  F´psIm−v? 

 (b)  Explain the protection of amino group in such a reaction. 
  C¯cw {]hÀ¯\§fnÂ Aant\m {Kq¸nsâ ]cnc£Ww hnhcn¡pI. 
 

3 Marks Questions 

 

12. Write the products formed when the following are reduced with sodium in ethanol. 
Xmsg ]dbp¶hsb sodium in ethanol D]tbmKn v̈ \ntcmIvkoIcn¨mÂ In«p¶ DÂ¸¶§Ä FgpXpI. 
(a) CH3CH2CONH2 (b)  CH3CH2CN (c)  CH3CH2NC 
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13. Give one chemical test to distinguish between 2 – methyl propan – 2 – amine, N – ethyl ethyl amine and N, 
N – dimethyl ethyl amine. 
2-methyl propan-2-amine, N-ethyl ethyl amine, N1, N-dimethyl ethyl amine F¶nh thÀXncn¨dnbm\pÅ 
Hcp cmk]co£Ww FgpXpI. 

14. When aniline is sulphonated using fuming sulphuric acid, a dipolar ion is formed. 
A\oens\ ^yqanwKv kÄ^yqcnIv BknUv D]tbmKn¨v kÄs^mtWäv sNbvXt¸mÄ Hcp ssUt¸mfmÀ 
Atbm¬ In«n. 
(a) Write the structure of this dipolar ion. 

{]kvXpX ssUt¸mfmÀ AtbmWnsâ LS\ FgpXpI. 
(b) Write the common name given to such dipolar ions. 

C¯cw ssUt¸mfmÀ AtbmWpIÄ¡v s]mXpth ]dbp¶ t]sc´v? 
(c) Why does this molecule exist as a dipolar ion? 

Cu X·m{X F´psIm−v ssUt¸mfmÀ AtbmWmbn \ne\nÂ¡p¶p? 
15. How can you distinguish between the following. 

ChbnÂ Hmtcm tPmUnbpw X½nÂ Xncn¨dnbp¶sX§s\? 
(a)  ethanol and ethyl amine  (b)  trichloromethane and tetrachloromethane 
(c)  aniline and phenol 

16. Give reasons for the following: 
Xmsg ]dbp¶hbpsS ImcWsagpXpI. 
(a) An aryl diazonium salt is highly stable under ice cold conditions. 

hfsc XWp¯ AhØbnÂ Hcp AsscÂ UbmtkmWnbw kmÄ«v hfsc ØncXbpÅXmWv. 
(b) Phenol can perform Friedal Craft’s alkylation but aniline cannot. 

^ot\mfnÂ {^nUÂ {Im^vävkv BÂss¡ssej³ \S¡pw, ]t£ A\nen\nÂ \S¡nÃ. 
(c) Boiling point of ethyl amine is less than that of ethanol. 

CussYÂ Aao\nsâ Xnf\ne FYt\mfnt\¡mÄ IpdhmWv. 

 

4 Marks Questions 

 

17.  (a)  How does aniline react with Bromine water? 
  A\oen\nÂ t{_man³ hm«dpambn {]hÀ¯n¡p¶sX§s\? 
 (b)  You are provided with aniline, sodium nitrite, HCl, NaOH and phenol. How can you prepare a dye? 
  \n§Ä¡v A\nen³, tkmUnbw ss\ss{Säv, sslt{Umt¢mdnIv BknUv, 

tkmUnbwsslt{UmIvkbnUv, ^ot\mÄ F¶nh X¶ncn¡p¶p.  \n§Ä¡v Hcp ssU D−m¡m³ 
F§s\ Ignbpw? 

18. Identify A, B, C and D. 
A, B. C, D F¶nh Is−¯pI. 
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UNIT 14.   BIOMOLECULES 

 

1 Mark Questions 

 
1.  α-D(+) glucose and β-D(+) glucose are: 
 α-D(+) ¥qt¡mkpw β-D-(+) ¥qt¡mkpw Xmsg]dbp¶hbnÂ GXp KW¯nÂs¸Sp¶p? 
 (a)  Metamers (b)  Anomers  
  saämtagvkv  B\mtagvkv 
 (c)  Geometrical isomers (d) Functional group isomers 
  tPymsa{Sn¡Â sFtkmtaÀkv  ^wKvjWÂ {Kq¸v sFtkmtagvkv 
2.  Carbohydrates are the storage molecules as starch in plants and  _______ in animals. 
 ImÀt_m sslt{UäpIÄ kky§fnÂ ÌmÀ¨v Bbpw P´p¡fnÂ _______Bbpw kw`cn¨p 

h¨ncn¡p¶p. 
3.  Name the naturally occurring α-amino acids which is not optically active. 
 {]IrXnZ¯ BÂ^m Aant\m BknUpIfnÂ H]vän¡en BIvSohv AÃm¯Xnsâ t]scgpXpI. 
4.  The enzymes which catalyse the oxidation of one substrate with simultaneous reduction of another 

substrate are named as _______ 
 Htckabw HmIvkoIcW¯n\pw \ntcmIvkoIcW¯n\pw klmbn¡p¶ F³sskans\ _______ F¶p 

hnfn¡p¶p. 
5.  Which vitamin is responsible for blood clotting? 
 càw I«]nSn¡p¶Xn\v klmbn¡p¶ sshäan³ GXv? 

 

2 Marks Questions 

 

6.   Classify the following into monosaccharides and disaccharides: 
 Xmsg sImSp¯ncn¡p¶hsb ssUkm¡ssdUpIÄ, tamtWmkm¡ssdUpIÄ F¶n§s\ XcwXncn¡pI. 
 Ribose, 2- deoxyribose, maltose, galactose, fructose and lactose. 
 ssdt_mkv, 2- UnHmIvknssdt_mkv, amÄt«mkv, KmeIvtämkv, {^Ivtämkv, emIvtämkv 
7.    What are reducing sugars and non- reducing sugars? 
 sdUyqknwKv jpKÀ, t\m¬þsdUyqknwKv jpKÀ Ch X½nepÅ hyXymkw FgpXpI.  
8.   What are essential and non-essential amino acids? Give two examples of each type. 
 Ahiy Aant\m BknUpIfpw Ahiyw AÃm¯ Aant\m BknUpIfpw (Fk³jyÂ, t\m¬þ Fk³ 

jyÂ) X½nepÅ hyXymkw FgpXpI.  c−v DZmlcWw hoXw FgpXpI. 
9.    Differentiate between globular and fibrous proteins. 
 t¥m_pemÀ t{]m«o\pw ss^{_kvv t{]m«o\pw X½nepÅ hyXymkw DZmlcW klnXw FgpXpI. 
10.  Why cannot vitamin - C be stored in our body? 
 sshäan³ - C \½psS icoc¯nÂ tiJcn¨phbv¡m³ km[n¡m¯Xv F´psIm−v? 
11.  What is the difference between a nucleoside and a nucleotide? 
 \yq¢ntbmsskUpIfpw \yq¢ntbmssSUpIfpw X½nepÅ hyXymkw FgpXpI. 

 

3 Marks Questions 

 

12.   (a)  What are anomers?  
   B\mtagvkv F¶mse´v? 
  (b)  What is the basic structural difference between starch and cellulose? 
   ÌmÀ¨v, skÃptemkv Ch X½nepÅ ASnØm\ hyXymkw FgpXpI. 
13.  Biomolecules are formed by certain specific linkages between simple monomeric units. Write the names of 

linkages and monomeric units in the following class of biomolecules. 
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 Xmsg sImSp¯ncn¡p¶ _tbmtamfnIyqÄknse tamtWm sadnIv bqWnäpw ent¦Ppw FgpXpI. 
 (a)  Starch (b)  Protein (c)  Nucleic acid 
  ÌmÀ¨v  t{]m«o³  \yq¢n¡v BknUv  
14.  What happens when D - glucose is treated with the following reagents? 
  D- - ---¥qt¡mkpw Xmsg sImSp¯ncn¡p¶ dotbPâpIfpw X½nepÅ {]hÀ¯\w FgpXpI. 
 (a)  HI (b)  Bromine water (c)  HNO3 

15. (a)   What is invert sugar? 
    C³thÀ«v jpKÀ F¶mse´v? 
 (b)  Match the following: 
   tNcpw]Sn tNÀ¡pI. 

 A   B 
Vitamin A - Aldohexose 
sshäan³ A  BÂtUmslIvtkmkv 
Glucose - Night blindness 
¥qt¡mkv  \nimÔX 
Starch - Enzyme 
ÌmÀ¨v  F³sskw 
Zymase - Amylose 
ssktakv  Assatemkv 

- Fructose 
 {^Ivtämkv 

16.  Write the important structural and functional differences between DNA and RNA. 
 DNA bpw RNA bpw X½nepÅ {][m\ hyXymk§Ä FgpXpI. 

4 Marks Questions 

 
17. Cane Sugar, Glucose and Starch are Carbohydrates. 
 sIbv³ jpKÀ, ¥qt¡mkv, ÌmÀ v̈ Ch ImÀt_m sslt{UäpIÄ BWv. 
 (a)  Represent the structure of Glucose. 
  ¥qt¡mknsâ LS\ hcbv¡pI. 
 (b)  Write a method to prepare Glucose from Starch. Write the chemical equation of the reaction. 
  ÌmÀ¨nÂ \n¶pw ¥qt¡mkv \nÀ½n¡p¶ hn[w FgpXpI.  B cmk{]hÀ¯\¯nsâ cmkka 

hmIyhpw FgpXpI. 
 (c)  Suggest any two uses of Carbohydrates. 
  ImÀt_m sslt{Uänsâ c−v D]tbmK§Ä FgpXpI. 
18.  (a)  How do you explain the amphoteric behaviour of amino acids? 
  Aant\m BknUnsâ "Awt^msSdnIv' kz`mhw hniZam¡pI. 
 (b)  What is denaturation of protein?  
  "Uot\¨ptdj³ Hm v̂ t{]m«o³' F¶mse´v? 
       (c)  Match the following structures of proteins in column I with their characteristic features in column II 
  tNcpw]Sn tNÀ¡pI. 

Column I column II 

i)  Primary structure 
 ss{]adn LS\ 

i)  Spatial arrangement of polypeptide sub units 
 t]mfns]]vssdUv k_vbqWnäpIfpsS {Iao IcWw 

ii)  Secondary structure 
 sk¡âdn LS\ 

ii)  Structure of amino acids 
 Aant\mAknUpIfpsS LS\ 

iii)  Tertiary structure 
 sSdnjydn LS\ 

iii)  Folding of peptide chains 
 s]]vssäUv sNbn\pIfpsS t^mÄUnMv 

iv)  Quaternary structure 
 IzmÀ«\dn LS\ 

iv)  Sequence of amino acids 
 Aant\m BknUpIfpsS {Iaw 

 v)  Fibrous or globular nature 
 ss^{_kv AYhm t¥m_pemÀ kz`mhw 
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UNIT 15.   POLYMERS 

 

1 Mark Questions 

 
1.  Name the monomer of natural rubber. 
 {]IrXn Z¯amb dºdnsâ tamtWmsaÀ GXmWv? 
2.  Write the name of one of the common initiators used in free radical addition polymerisation. 
 {^odmUn¡Â AUnj³ t]mfnsassdtkj\nÂ km[mcWbmbn D]tbmKn¡p¶ Hcp C³tjyädnsâ 

t]scgpXpI. 
3.  Name the linear polymer formed during the condensation polymerisation between phenoI and 

formaldehyde. 
 ^ot\mfpw t^mÀamÂUnsslUpw X½nepÅ I¬U³tkj³ t]mfnsassdtkj³ hgn D−m¡p¶ eo\n 

bÀ t]mfnaÀ GXmWv? 
4.  What is the cross-linked polymer obtained by the polymerisation of phenol and formaldehyde? 
 ^ot\mfpw t^mamÂUnsslUpw X½nepÅ t]mfnassdtkj\nÂ \n¶pw e`n¡p¶ t{Imkvþen¦vU v 

t]mfnaÀ GXmWv? 
5.  Name the synthetic rubber formed by the free radical polymerisation of chloroprene. 
 t¢mtdm{]osâ {^o dmUn¡Â t]mfnassdtkj\nÂ \n¶pw e`n¡p¶ kn´änIv dºÀ GXmWv? 

 

2 Marks Questions 

 

6.  Classify the following into addition and condensation polymers: 
  Terylene, Bakelite, Polyvinyl chloride, Polythene.  
     Xmsg X¶ncn¡p¶hsb AUnj³ t]mfnadpw I¬U³tkj³ t]mfnadpw Bbn thÀXncns¨gpXpI: 
      sSÀeo³, t_¡sseäv, t]mfnhnss\Â t¢mssdUv, t]mfn¯o³. 
7.  Match the following : 
 tNcpw]Sn tNÀ¡pI. 

(i)  Polyacrylonitrile 
 t]mfnA{Intemss\{SnÂ 

(i)  Terylene 
 sSÀeo³ 

(ii)  1, 3 - Butadiene - Acrylonitrile 
  1, 3 - -_yq«mssUbo³ - A{Intemss\{SnÂ 

(ii)  Natural rubber 
 {]IrXnZ¯ dºÀ 

(iii)  Ethylene glycol - Terephthalic acid 
 FYeo³ s¥t¡mÄ - sSdn¯men¡v BknUv 

(iii)  Buna - N 
  _yqWm - N 

(iv)  Cis -1,4 - polyisoprene 
 knkv -1,4 - t]mfn sFtkm{]o³ 

(iv)  Acrylan 
  A{Inem³ 

8.  Arrange the following polymers in increasing order of their intermolecular forces. 
 BIÀjW _ew IqSp¶ {Ia¯nÂ Xmsg X¶ncn¡p¶ t]mfnadpIsf {Ias¸Sp¯pI. 

(a) Nylon -  6,6, Buna-S, Polythene. 
ss\tem¬ -  6,6,  _yqWmþ S, t]mfn¯o³ 

(b) Nylon - 6, Neoprene, Polyvinyl chloride. 

ss\tem¬ - 6, \ntbm{]o³, t]mfnhnss\Â t¢mssdUv. 
9.  What are biodegradable polymers? Write an example. 
 _tbmUnt{KU_nÄ t]mfnaÀ F¶mÂ F´v?  Hcp DZmlcWw FgpXpI. 
10. (a)  What is Teflon? 
  sS v̂tem¬ F¶mÂ F v́?  
 (b)  Mention any two uses of it. 
  AXnsâ c−v D]tbmKw FgpXpI. 
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11.  Name the monomer units of PVC and Bakelite. 
 ]n hn kn bpsSbpw t_¡vsseänsâbpw tamtWmsadpIÄ Gh? 

3 Marks Questions 

 
12.   Polymers are classified into elastomers, fibres, thermoplastics and thermosetting plastics depending on the 

intermolecular forces. Fill in the vacant places given below: 
  t]mfnsadpIsf X·m{XIÄ X½nepÅ BIÀjW _e¯nsâ ASnØm\¯nÂ CemtÌmsaÀ, ss^_À, 

sXÀtam¹mÌn¡v, sXÀtamskänM v¹mÌnIv F¶n§s\ XcwXncn¡mw.  Xmsg X¶ncn¡p¶ iq\yamb Øe 
§Ä ]qcn¸n¡pI. 

 

Types of Polymer 
ssS v̧kv Hm v̂ t]mfnsaÀ 

Polymer 
t]mfnsaÀ 

Monomer 
tamtWmsaÀ 

Thermosetting Plastic 
sXÀtam skän§v ¹mÌnIv 

(i) _______ Phenol  +  formaldehyde 
^nt\mÄ + t^mÀamÂUnsslUv 

(ii) _______ Natural Rubber 
{]IrXn Z¯ dºÀ 

(iii) _______ 

(iv) _______ (v) _______ Caprolactum 
Imt{]memIvSw 

(vi) _______ Polystyrene 
t]mfossÌdo³ 

Styrene 
ssÌdo³ 

13.   (a)  What are polymers? 
    t]mfnsadpIÄ F¶mÂ F´v?  
  (b)  How are polymers classified on the basis of structure? 
   LS\bpsS ASnØm\¯nÂ t]mfnsadpIsf F§s\ XcwXncn¡mw? 
14.   Addition polymerisation is used for the production of important polymers. 
  hfsc {][m\s¸« t]mfnaÀ \nÀ½n¡p¶Xn\v AUnj³ t]mfnassdtkj\mWv D]tbmKn¡p¶Xv. 
  (a)  Give one example for the addition polymer. 
   AUnj³ t]mfnsadn\v Hcp DZmlcWw FgpXpI. 
  (b)  What is the mechanism in addition polymerisation? 
   AUnj³ t]mfnassdtkjsâ sa¡m\nkw FgpXpI. 
15.   What do 6 and 6,6 represent in the polymers Nylon - 6 and Nylon - 6,6 ? 

   ss\tem¬ - 6, ss\tem¬- 6,6 F¶o t]mfnsadpIfnÄ - 6 Dpw, - 6,6 Dpw F´ns\ kqNn¸n¡p¶p? 
16.   Natural rubber obtained from rubber latex is soft and sticky. 
   dºÀ emäIvknÂ \n¶pw D−m¡p¶ dºÀ amÀ±hpw H«n¸nSn¡p¶XpamWv. 
   (a)  Suggest a method to improve the stiffness of rubber.  
    dºdnsâ I«n¡q«p¶Xn\pÅ Hcp amÀ¤w \nÀt±in¡pI. 
   (b)  Explain the above method. 
    taÂ]dª amÀ¤w hniZoIcn¡pI. 
   (c)  Classify the following into natural and synthetic polymers:  
                              Nylon, Starch, Cellulose, PVC. 
                   Xmsg X¶ncn¡p¶hsb {]IrXnZ¯ t]mfnadpw kn´änIv t]mfnadpw Bbn thÀXncns¨gpXpI: 
                      ss\tem¬, ÌmÀ¨v, skÃptemkv, ]n.hn.kn. 
 

4 Marks Questions 

 

17.  (a)  Explain homopolymers and copolymers with examples. 
   tlmtamt]mfnadpw tImt]mfnadpw DZmlcW klnXw FgpXpI. 
  (b)  Differentiate between thermoplastics and thermosetting plastics. Write one example each to 

them. 
   sXÀtam¹mÌn¡pw sXÀtamskänwKv ¹mÌn¡pw X½nepÅ hyXymkw Hcp DZmlcW klnXw 

FgpXpI. 
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18.   (a)  Explain the difference between Buna-N and Buna-S. 
   _yqWm - N Dw, _yqWm - S Dw X½nepÅ hyXymkw hniZoIcn¡pI. 
  (b)  How does the presence of double bonds in rubber molecules influence their structure and 

reactivity? 
   dºÀ X·m{XbnepÅ Zzn_Ô\w AXnsâ LS\bnepw cmk{]hÀ¯\¯nepw F§s\ kzm[o 

\n¡p¶p? 
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UNIT 16.   CHEMISTRY IN EVERYDAY LIFE  

 

1 Mark Questions 

 
1.  Chemical compounds used for the treatment of stress are called _______ 
 am\knI k½À±¯n\v NnInÕbv¡mbn D]tbmKn¡p¶ cmkhkvXp¡sf _______ F¶p hnfn¡p¶p. 
2.  Name one non-narcotic analgesics that finds use in prevention of heart attacks, because of its anti blood 

clotting action. 
 càw I«]nSn¡mXncn¡m\pÅ {]tXyIX sIm−v lrZbmLmXw XSbphm³ D]tbmKn¡p¶ ab¡pacp 

¶pIfÃm¯ thZ\kwlmcnbpsS t]scgpXpI. 
3.  A mixture of chloroxylenol and terpineol is commonly known as _______ 
 t¢mtdm ssket\mÄ, sSÀ]n\ntbmÄ F¶nhbpsS an{inXs¯ s]mXphmbn Adnbs¸Sp¶Xv? 
4.  _______ is an artificial sweetener which is unstable at cooking temperature. 
 ]mNIw sN¿p¶ Xm]\nebnÂ AØncamb Ir{Xna a[pc ]ZmÀ°w _______ BWv. 
5.  Which is the chemical substance discovered by Paul Ehlrich for the treatment of syphilis? 
 kn^nenkv F¶ AkpJ¯nsâ NnInÕbv¡mbn t]mÄ FÂdn v̈ Is−¯nb cmk ]ZmÀ°w GXv? 
 

2 Marks Questions 

 

6.  Differentiate between antagonists and agonists. 
 BâmtKmWnÌpw BKWnÌpw X½nepÅ hyXymk§Ä FgpXpI. 
7.  Why do antihistamines not affect the secretion of acid in stomach? 
 hbdnÂ BknUv {khn¡p¶Xns\ BânlnÌman\pIÄ _m[n¡p¶nÃ. F´psIm−v? 
8.  What problems arise in using alitame as artificial sweetener? 
 Bentäw Ir{Xna a[pc ]ZmÀ°ambn D]tbmKn¡pt¼mgpÅ {]iv\§Ä F´v? 
9.  What are food preservatives? Give an example. 
    F´mWv ^pUv {]nkÀthäohv ? Hcp DZmlcWw FgpXpI. 
10.  How are synthetic detergents better than soaps? 
 tkm¸nt\¡mÄ Ir{Xna UnäÀUPâpIÄ¡pÅ ta· F´v? 
11.  Synthetic detergents are of three types.   
 Ir{Xna UnäÀPâpIÄ aq¶v Xc¯nep−v. 

(a) What are the three types?  
  B aq¶v Xcw GsXÃmw? 
(b) To which of the above types, does the liquid dish wash belong? 
 apIfnÂ sImSp¯ncn¡p¶hbnÂ enIznUv Unjv hmjvGXp Xc¯nÂ DÄs¸Sp¶p? 
 

3 Marks Questions 

 

12. (a)  Name the acid which in dilute aqueous solution is used as weak antiseptic for eyes. 
  t\À¸n¨ Peob emb\nbnÂ I®n\pÅ AWp\min\nbmbn D]tbmKn¡p¶ AknUv GXv? 
 (b)  What is tincture of iodine? What is its use? 
  F´mWv SznMvNÀ AbUn³?  AXnsâ D]tbmKw F´v? 
13.  (a)  What are artificial sweetening agents ? Give two examples. 
  Ir{Xna a[pc ]ZmÀ°§Ä Gh?  2 DZmlcWw FgpXpI. 
 (b)  Name the sweetening agent used in the preparation of sweets for a diabetic patient. 
  {]tal tcmKn¡p \ÂIp¶ a[pc]ZmÀ°¯nÂ D]tbmKn¡p¶ a[pcw GXv? 
14.   (a)  Explain the term, target molecules or drug targets as used in medicinal chemistry. 
  sshZy imkv{X ckX{´¯nÂ D]tbmKn¡p¶ SmÀPäv tamfnIyqÄ AYhm {UKv SmÀPäv Fs´¶v 

hniZam¡pI. 
 (b)  Name the macromolecules that are chosen as drug targets. 
  {UKv SmÀPäv Bbn D]tbmKn¡p¶ kvYqeX·m{XbpsS tamfnIyqfnsâ t]scgpXpI. 
15.  What are biodegradable and non-biodegradable detergents? Give one example of each. 
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  _tbmUnt{KU_nÄ UnäÀPâvkv t\m¬þ_tbmUnt{KU_nÄ UnäÀPâvkv F¶mÂ F´mWv?  Hmtcm 
DZmlcWw hoXw FgpXpI. 

16.   Match the chemical terms shown in column I with the chemicals shown in column II. 
  tNcpw]Sn tNÀ¡pI. 

Column I Column II 

(i)   Antacid 
 BâmknUv  

(i)  Terfenadine 
 sSÀs^\mssU³ 

(ii)  Antihistamine 
 BânlnÌman³ 

(ii)  Ranitidine 
 dmWnänssU³ 

(iii)  Artificial sweetner 
 Ir{Xna a[pcw 

(iii)  Tetracycline 
 sS{Smssk¢o³ 

(iv)  Bacteriocidal antibiotic 
 _mIvSocntbmknUÂ 

Bân_tbm«nIv  

(iv)  Aspartame 
 Bkvs]ÀtSw 

(v)  Bacteriostatic antibiotic 
 _mIvSocntbmÌmänIv 

Bân_tbm«nIv 

(v)  1% phenol 
 1% ^ot\mÄ 

(vi)  Disinfectant 
 Unkn³s^IvSâ v 

(vi)  Ofloxacin 
 Hm v̂fmIvknkn³ 

 

4 Marks Questions 

 
17.  (a)  How do antiseptics differ from disinfectants? Give one example of each. 
  Unkn³s^IvSâvknÂ \n¶pw Aânsk]vSnIn\pÅ hyXymkw F´mWv? Hmtcm DZmlcWw hoXw 

FgpXpI. 
 (b)  ‘Same substances can act as an antiseptic as well as disinfectant by varying the concentration’. 

Substantiate with suitable example. 
  "KmVXbnÂ D−mIp¶ hyXymk¯n\\pkcn v̈ Htc ]ZmÀ°w Xs¶ Bânsk]vSnIv Bbpw 

Unkn³s^IvSâv Bbpw D]tbmKn¡mw'.  \n§fpsS hmZKXnsb km[qIcn¡pI. 
18. (a)  Explain the cleansing action of soaps. 
  tkm¸nsâ s¢³knwKv {]hÀ¯n hnhcn¡pI. 
 (b)  Why do soaps not work in hard water? 
  tkm¸v  ITn\Pe¯nÂ Aenbp¶nÃ.  F´psIm−v? 

 

 

 

 

 

 

 


